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Thursday, February 19, 2015

--- Upon commencing at 9:34 a.m.
MS. LONG:  Please be seated.  

     Good morning, everyone.  The Board is sitting today in EB-2014-0116, an application brought by Toronto Hydro-Electric System for a custom incentive rate application. 

     We are going to continue with the oral evidence phase of this proceeding.  Is there anyone who has not entered an appearance who would like to do so today?  

     Then, Mr. Smith, I think it is over to you.  

     MR. SMITH:  Thank you very much.  Good morning, members of the Panel.  We have here today Toronto Hydro's second panel, which is the benchmarking and productivity panel. 

     I will first introduce them, and then perhaps they can be affirmed.  So we have Mr. Walker, who is the general manager, engineering and investment planning, whom you have seen already and will continue to see for some time.  We have to his left Darryl Seal, the manager of rates.  And we have to his left Steve Fenrick from Power System Engineering.  And to his left, Erik Sonju, also of Power System Engineering.


So perhaps they could be -- with the exception of 

Mr. Walker, perhaps they could be affirmed. 

     MS. SPOEL:  Yes, Mr. Walker, you have already been affirmed, so there's no need again.  The remaining witnesses, I will do this collectively, and if each of you could answer the two questions I will pose to you, that would be helpful. 


TORONTO HYDRO-ELECTRIC SYSTEM LTD. - PANEL 2

Mike Walker, Previously Affirmed


Darryl Seal, Affirmed


Steve Fenrick, Affirmed


Erick Sonju, Affirmed
     MS. SPOEL:  Thank you.  


EXAMINATION IN-CHIEF BY MR. SMITH:

     MR. SMITH:  Very briefly, Mr. Seal, I understand that you are the manager of rates?  

     MR. SEAL:  That is correct.  

     MR. SMITH:  And you have been in that role since approximately 2006?  

     MR. SEAL:  That's correct. 

     MR. SMITH:  And you have, as your responsibility in that role, to oversee cost allocation and rate design issues on behalf of Toronto Hydro?  

     MR. SEAL:  That is correct. 

     MR. SMITH:  Okay.  I understand that you have a masters degree in economics?  

     MR. SEAL:  Yes, I do. 

     MR. SMITH:  Mr. Walker and Mr. Seal, the evidence that you are responsible for today is set out in Exhibit OH, tab 1, schedule 1.  Do you adopt that evidence, including the interrogatories, technical conference evidence, and undertakings in relation to that evidence?  

     MR. WALKER:  Yes, I do. 

     MR. SEAL:  Yes, I do. 

     MR. SMITH:  Okay.  Mr. Fenrick, perhaps I can turn to you.  And it may be of assistance, members of the Panel, Mr. Fenrick's curriculum vitae, along with Mr. Sonju's, were filed in response to an interrogatory, and they can be found at BOMA 61.  I am just going to ask that that be pulled up.  

     I understand, sir, that you are the leader of Power System Engineering Inc.'s economics and market research group?  

     MR. FENRICK:  Yes, I am. 

     MR. SMITH:  And PSE, or Power System Engineering, is a full-service consulting firm?  

     MR. FENRICK:  That's correct, to the electric utility industry. 

     MR. SMITH:  And among other things, it provides econometric cost and reliability benchmarking for utility regulatory purposes?  

     MR. FENRICK:  Yes.  

     MR. SMITH:  And that is, in fact, your area of focus?  

     MR. FENRICK:  It is, yes. 

     MR. SMITH:  And you have been with PSE since 2009?  

     MR. FENRICK:  Yes, that's correct. 

     MR. SMITH:  And prior to that, you were employed by Pacific Economics Group from 2001 to 2009 as a senior economist?  

     MR. FENRICK:  That's correct.  

     MR. SMITH:  I understand, sir, that you have a bachelor of science degree in economics, with a math emphasis?  

     MR. FENRICK:  Yes. 

     MR. SMITH:  And a masters in applied economics, and both of those degrees come from the University of Wisconsin, Madison? 

     MR. FENRICK:  That's correct. 

     MR. SMITH:  If we turn to page 2 of your CV, I understand that you have authored various publications and papers in the area of reliability and cost benchmarking?  

     MR. FENRICK:  That's correct. 

     MR. SMITH:  And you have been qualified as an expert and testified in various regulatory proceedings, including before this Board?  

     MR. FENRICK:  Correct. 

     MR. SMITH:  And again, those are in the areas of cost and reliability benchmarking?

     MR. FENRICK:  I believe I was a witness for the -- in the fourth-generation IR proceeding.  I don't believe I was actually sworn in in that area.  I was before the Board in the ICM proceeding back in 2013.  

     MR. SMITH:  And did you also participate in the third-generation IRM proceeding?  

     MR. FENRICK:  No, not directly.  

     MR. SMITH:  Okay.  And subsequently, did you have any role in the third-generation IRM proceeding?  

     MR. FENRICK:  Yes.  At that point I was at Pacific Economics Group, which was involved in the third-generation incentive regulation, and I did -- I assisted with the empirical research in that proceeding. 

     MR. SMITH:  And as I understand it, sir, you are the lead author of the report dated July and then updated on September 19, 2004, entitled "Econometric benchmarking of Toronto Hydro's historical and projected total cost and reliability levels"? 

     MR. FENRICK:  Yes, I am. 

     MR. SMITH:  Members of the Board, that can be found at Exhibit 1B, tab 2, schedule 5, appendix B.  There we have it.  

     And similarly, you were also the lead author of Exhibit 1B, tab 2, schedule 5, appendix C, which is a reply report dated December 2014?  

     MR. FENRICK:  Yes.  

     MR. SMITH:  And members of the Board, it may be worth 

observing here the reply report that was filed was initially filed in confidence.  There were subsequently discussions with Board Staff and Dr. Kaufmann about whether the report needed to be kept confidential.  Those were resolved and the report has been filed publicly, so that we don't have a concern with respect to confidentiality.  

     MS. LONG:  Thank you.  

     MR. SMITH:  Sir, before we go into your report in further detail, can I ask you to turn back to Exhibit 1B, tab 2, schedule 5, appendix B, being your first report, and turn to page 1.

You will see you were asked in the fourth paragraph, Power System Engineering was asked by Toronto Hydro to conduct a benchmarking study of Toronto Hydro's past and projected total cost and reliability performance in reference to the utility's 2015 to 2019 custom IR application.  Do you see that?  

     MR. FENRICK:  Yes, I do. 

     MR. SMITH:  Those are the subjects that are covered in your report?  

     MR. FENRICK:  Yes.  

     MR. SMITH:  Okay.  Members of the Board, I would ask that Mr. Fenrick be qualified as an expert in the area of cost and reliability econometric benchmarking.  

     MS. LONG:  Do any parties have any submissions to make or questions to ask of Mr. Fenrick with respect to his qualifications?  

     MR. SHEPHERD:  Madam Chair, I don't have any questions of Mr. Fenrick, but I just want to be very clear on the boundaries of his claimed area of expertise.  It is in econometric cost and reliability benchmarking.  It doesn't include things like utility operations, regulation of utilities, things like that.  Mr. Fenrick is not claiming 

expertise in those areas; am I right?  

     MR. SMITH:  The tender and the subject of the report is in relation to cost and reliability econometric benchmarking.  

     As my friend will be aware, Mr. Fenrick does have expertise with respect to utility regulation and forms of utility regulation, but that is not the subject of his report and not the area in which I am proposing to qualify him, and I haven't asked the Board to qualify him in that area. 

     So I trust that answers my friend's question, and he asks his question in respect of other matters at his own peril.  

     MR. SHEPHERD:  I want to make sure that when I ask questions about matters in the report that are not about econometric benchmarking, that it is clear that Mr. Fenrick is not claiming expertise in that area; he's not qualified as an expert witness in that area.  It changes the tenor of my questions when I do that. 

     MS. LONG:  I understand that. 

     MR. SHEPHERD:  Thank you. 

     MR. SMITH:  I don't know what I can say further in response to that.  I propose to tender and that's it. 

     MS. LONG:  Thank you, Mr. Smith.

We will accept Mr. Fenrick as an expert, as set out by Mr. Smith.  

     MR. SMITH:  I am going to come back to the report, subject to the Board's leave, for some examination in-chief.  But at this point, I would ask to move over to Mr. Sonju. 

     Sir, I understand that you are a vice president at Power System Engineering in the area of power delivery, planning and design?

     MR. SONJU:  Yes, that is correct.  

     MR. SMITH:  And you are a professional engineer, licensed as such in 16 states in the United States?  

     MR. SONJU:  That is correct.  

     MR. SMITH:  And your particular area of focus, as I 

understand it, sir, is in the area of transmission and 

distribution system operation, capital asset planning, design, and reliability assessment?

     MR. SONJU:  That is correct. 

     MR. SMITH:  And you have been at Power System Engineering since 2006?  

     MR. SONJU:  Yes. 

     MR. SMITH:  And you have been a vice president since 2010?

     MR. SONJU:  That is correct. 

     MR. SMITH:  And prior to that, you were employed by Great Lakes Energy?

     MR. SONJU:  Yes. 

     MR. SMITH:  And that was in the role of system engineer and engineering department manager for that company?  

     MR. SONJU:  That is correct. 

     MR. SMITH:  And that's, as I understand it, a utility, 

electric distribution utility, serving approximately 120,000 customers in the Michigan area?  

     MR. SONJU:  That is correct. 

     MR. SMITH:  And if we look at your curriculum vitae -- 

probably no need to turn it up, but I understand that you have spoken widely at conferences and seminars in the area of system design and planning, and the other areas we spoke about earlier?  

     MR. SONJU:  Yes, I have. 

     MR. SMITH:  And you similarly have been qualified as an expert and testified before regulatory bodies, including this Board in those areas; is that correct? 

     MR. SONJU:  Yes, it is. 

     MR. SMITH:  And equally, you have testified in civil 

proceedings also in the area of your specialization?  

     MR. SONJU:  Yes. 

     MR. SMITH:  Members of the Board, I would ask that Mr. Sonju be qualified as an expert in the area of system planning and the design and cost estimation of electric utility infrastructure.  

     MS. LONG:  Does anyone have any comments with respect to those qualifications of Mr. Sonju?

Then, Mr. Smith, we will accept him as an expert.  

     MR. SMITH:  I ought to have done this earlier -- thank you, Madam Chair.  I ought to have done this earlier, but I understand, sir, that you were the author of a report entitled "Capital requirements for serving developed environments," dated July 25, 2014; is that correct?  

     MR. SONJU:  Yes, it is. 

     MR. SMITH:  And that report, members of the Panel, can be found as an appendix, indeed I believe the only appendix to the first PSE report.  So that is the September updated report.  

     And for your reference -- although I don't anticipate 

anybody going to it -- you were also the author, sir, of the standards review study filed at Exhibit 2B, section D, appendix B; correct?  

     MR. SONJU:  Yes, that is correct.  

     MR. SMITH:  Now, Mr. Fenrick, can I return to you?

And with the Board's leave, I'd like to conduct a brief examination in-chief.  My objective is to highlight for you the areas of agreement and disagreement between PSE and PEG, which I think will be of assistance to you. 

     MS. LONG:  The Panel would find that helpful.  Thank you, Mr. Smith. 

     MR. SMITH:  Mr. Fenrick, do you have your first report there?  

     MR. FENRICK:  Yes, I do. 

     MR. SMITH:  Okay.  Can I ask you to turn to page 2?

We know you did an econometric benchmarking study of cost and reliability performance.  Turning to page 2 of that, at the top of the report, can you describe briefly for the Board the methodology you followed in conducting that work?

     MR. FENRICK:  Absolutely.  We, PSE and my staff, put together a series of historical data that used and followed the fourth-generation IR methodology, as far as the Ontario data set that was put together in that proceeding. 

     We took -- took that historical data, combined it with FERC Form 1 and other US data sources to create a data set. 

     From that data set, we supplemented it with Toronto Hydro projections of costs and number of customers and reliability and those types of projections, and we created an econometric model, very similar to the same methodology used in the fourth-generation IR. 

     Out of that model was calculated benchmarks that predicted the expected cost levels, reliability levels of Toronto Hydro, both from a historical perspective and a projected perspective.  And then we compared those benchmarks to the actual observed cost or the projected costs to infer performance of Toronto Hydro in both the historical period and the projected period.  

     MR. SMITH:  You mentioned earlier that you combined the Ontario-only data with US data.  And why did you do that, sir?  

     MR. FENRICK:  The reason we combined the Ontario data with the US data set is, given the specific and somewhat unusual circumstances of Toronto Hydro as far as size and serving an urban core city, we felt the Ontario data set alone was insufficient for a proper and accurate benchmarking study, which is the reason why we combined the data set, which does have a number of larger utilities in size of customers and also utilities with more urban characteristics than are found in Ontario alone.  

     MR. SMITH:  Can I ask you to turn to page 11 of your report, sir?  What I would like to do is -- if you could just briefly identify the conclusions you reached, dealing first with cost and then reliability. 

     So on the cost side, looking at the historical information, what were your conclusions?  

     MR. FENRICK:  Yes.  So when we put together the US data set and the Ontario data set, we looked at the two data sets, the combined data set which was the Ontario data with the US data, and then our second data set was a US-only data set. 

     In doing those two data sets, we performed two separate econometric models, essentially two separate studies of those two data sets.  Our findings were, on a historical basis from 2010 to 2012, Toronto Hydro was a statistically superior cost performer. 

     I believe in the combined data set, our result was 

21.5 percent below the expected or benchmarked values for the 2010-2012 time period. 

     On a cost basis, we also ranked Toronto Hydro to the 

utilities within that study.  For instance, in the -- compared to just the Ontario utilities within the combined data set, Toronto Hydro was found to be 15th out of the 71 distributors in the cost benchmarking. 

     For the projections -- that was the historical period.  For the projections, we found that Toronto Hydro's performance moves from statistically superior to the normal, the normal range within the plus-minus 10 percent set in fourth-generation IR for the stretch factor of 0.3 percent.  So they move from statistically superior to normal, based on the capital planning put forth. 

     MR. SMITH:  Does that capture the conclusions that you have set out on page 11, in items 1 through 3?  Have I got that correct?  

     MR. FENRICK:  Yes.  

     MR. SMITH:  What about item 4?  What was your conclusion there?  

     MR. FENRICK:  So yes, moving to the reliability, we did the same two data sets -- 

     MR. SMITH:  Sorry, just before we move to the reliability item, I would like you to just focus in on item 4, which deals with the stretch factor.  What was your conclusion there?  

MR. FENRICK:  Yes.  Essentially the conclusion there is Toronto Hydro moves from statistically superior in the historical time period to the normal -- normal range, statistically, from a statistical basis basically zero, kind of in at normal range within the plus-minus 10 percent, which I believe is cohort number 3 in the fourth-generation incentive regulation proceeding, implying a 0.3 percent -- puts them in a 0.3 percent stretch factor range.

     MR. SMITH:  All right.  Let's look at reliability.  And turning to conclusion 5, what was your conclusion with respect to reliability?  

     MR. FENRICK:  Similar to the total cost benchmarking, we created two data sets: the combined data set, which is the Ontario-US, and the US-only.  So we performed two separate models for two separate measures, being SAIFI, which is the number of frequency of outages that customers experience per year, and SAIDI, the duration of outages that a typical customer experiences per year. 

     So we had the two data sets and did the two separate evaluations on both of those.  Our findings for SAIFI, the frequency of outages, is, on a historical basis, Toronto Hydro is quite a bit above the benchmarked values, statistically significantly above the benchmarked values, implying that their customers are experiencing a higher number of outages than our benchmarks would suggest. 

     Into the projected period of the reliability, this moderates to a normal level, not statistically significant, still slightly above the benchmarks but not statistically significant in a count of that normal range.  

     On the SAIDI -- and I should mention both the combined data set and the US data show very similar results for SAIFI and for SAIDI.  Regarding SAIDI, we found that Toronto Hydro's customers are experiencing a lower number of outage duration minutes than our benchmarks would expect after factoring in all of the external conditions.  This is from a historical basis.  And then projected -- the company projects with their SAIDI that gets even lower, where it gets into the statistically significant territory through the custom IR period. 

     MR. SMITH:  What do you mean by "even lower"?  

     MR. FENRICK:  Well, sorry.  By "even lower," the Toronto Hydro's customers will experience less duration minutes on a percentage basis that would be even -- it would be greater than what our historical findings are. 

     So for instance in the 2010 to 2012 period, which -- this is bullet 6 on the conclusions -- we find that Toronto Hydro SAIDI is 48 percent below benchmark expectations. 

     So 48 percent -- customers are experiencing 48 percent below the benchmark expected SAIDI.  In --

     MR. SMITH:  And this is what you mean by:

"This implies that Toronto Hydro customers experience 48 percent fewer outage minutes than the models predict."  

     MR. FENRICK:  Yes, correct.


And the bullet point 6 continues -- by 2015 our models show 84 percent below on the SAIDI.  So the customers will experience 84 percent fewer outage minutes, based on the company's projections of SAIDI, based on the plan.  

     MR. SMITH:  All right.  And that's SAIDI on the SAIFI side?  

     MR. FENRICK:  The SAIFI, I believe -- I believe I already addressed that. 

     MR. SMITH:  My apologies.  I had SAIDI on the mind.  

     Let me turn from that report.  You're aware that a report was filed by Pacific Economics Group in December of 2014?  

     MR. FENRICK:  Yes. 

     MR. SMITH:  And you reviewed that report and prepared a reply report?  

     MR. FENRICK:  Yes, I did. 

     MR. SMITH:  Okay.  What I would like you to do is turn up that reply report, if you could.  What I would like to focus in with you, sir, is on the areas of, broadly speaking, the areas of agreement and disagreement between your report and the report filed by Pacific Economics Group.

So let's perhaps take them in the order in which they appear in the report.  Let's talk about reliability.  Where are we on the issue of reliability in terms of agreement and disagreement?  

     MR. FENRICK:  Yes.  Perhaps looking at page 2 of our reply report, figure 1, it's my understanding that PEG put together a new -- looked at our data set, our reliability data set, put together, made some adjustments, some modifications to that data set, and then recalculated the model using the US -- the US-only data set. 

     As you can see, there's substantial agreement on the 

reliability benchmarks.  If we look at figure 1, the blue line is the PSE calculated benchmarks, where we calculated the benchmarks, and those are basically the expectations, given the external conditions of Toronto Hydro, of where we felt the SAIDI number would be. 

     The green line is PEG's calculations and their benchmarks found in the PEG report.  You can tell, despite varying data sets, varying models, and two experts looking at this issue, the benchmarks are, we kind of say in the report, nearly indistinguishable.  The green line and the blue line are tracking each other quite closely. 

     This contrasts with PEG's finding that there is some 

disagreement on SAIDI.  You know, looking at the graph and looking at the results, we feel that is wholly due to PEG looking at the more dated time period of 2009 through 2011.  If you look at the same time periods, the benchmarks are wholly similar.


I should add too, similar story on figure 2 of SAIFI as well, where the benchmarks are tracked quite closely on the findings, our findings and PEG's findings. 

     MR. SMITH:  All right.  Would it be fair to summarize then, sir, that even if you looked at the 2009 to 2011 model developed by PEG and applied Toronto Hydro's data to it, that you would end up with similar results?  

     MR. FENRICK:  Between PSE and PEG?  

     MR. SMITH:  Yes. 

     MR. FENRICK:  Yes.  I mean, regardless of the time period, whatever time period one chooses to examine, the PSE and PEG results are going to be quite, quite similar, show quite similar results. 

     MR. SMITH:  So you referred to figure 1, which deals with SAIDI, and just for the purpose of the record, looking at figure 2, is it your evidence you can make the same observations with respect to the blue and green lines on figure 2 on page 3?  

     MR. FENRICK:  Yes.  And I would add that PEG themselves in the report stated that the SAIFI findings are quite similar as well.  It was just on the SAIDI where they felt there was some differences.  It's our contention that both of these results are wholly similar.  

     MR. SMITH:  Let's turn to the issue of cost, and that's discussed beginning at page 4 of the reply report, and perhaps you can turn there.  

     So let's look at the areas again of agreement and disagreement, broadly speaking.  Starting with the issue of agreement, where are we?  

     MR. FENRICK:  I think in terms of agreement, there's substantial agreement between PEG and PSE.  As far as the whole methodology of econometric benchmarking, and just the methodology, a lot of that is due to the fact that we -- we followed PEG's methodology put forth in fourth-generation IR, used the data -- the data set put together for the Ontario, including Toronto Hydro, the same definitions, put together the same cost data.  So we took that right from fourth-generation IR.


We also followed what was used as far as the trans-log cost function and those types of specifications.  I would say, moving from our original report to the PEG report, there continued to be some substantial agreement as far as PEG used the US data set and benchmarked using the US data set, which we believe is truly a move in the right direction, as far as an accurate portrayal of Toronto Hydro's performance. 

     PEG also put forth they believe that uncollectible accounts for the US data should be excluded, due to the fact that the Ontario data set excluded bad debt expenses. 

     To that, we agree.  We think that is an improvement.  That does make costs more comparable, which is really what we're trying to get after, is:  Can we make costs comparable between the US data set and the Ontario and Toronto Hydro data set?  And we believe that is also a move in the right direction.  

     MR. SMITH:  So there is nevertheless, despite the broad agreement, some areas of disagreement that you have identified in the report.  As I understand it, there are three, and what I would like to do is go through each of those.  

     As you say at page 4, these are three adjustments that you feel are necessary.  So let's go through each of them and you can tell me what the adjustments are, and why you feel they were appropriate.  

     So item 1 relates to bad debt expenses, and is captured under heading 3.1.  Can you tell us there the adjustment that you have proposed?

     MR. FENRICK:  Yes.  So adjustment 1 has to do with the 

desire to have cost comparability.  We needed the same cost 

definitions for the sample that we're benchmarking, the US 

sample, with Toronto Hydro.  

     And as I mentioned in my prior answer, we agree with PEG's suggestion that the uncollectible accounts should be excluded in the US data set; that increases the cost comparability. 

     With the one caveat, is PSE, when we put together the 

original data set, was under the impression that bad debt expenses were included into the Ontario data. 

     For that reason, the bad debt expenses were also included into Toronto Hydro's projections. 

     Based on what we've come to find out after our original report, that bad debt expenses are actually not included in the Ontario data and thus we should take out uncollectible accounts in the data, what also needs to happen is the projections for Toronto Hydro also need to subtract out the bad debt expenses that were previously put in there. 

     So that's not currently being done in the PEG report.  

We corrected that, and that is now in the PSE reply report to get those costs comparable on that issue. 

     MR. SMITH:  Just taking your last point, at page 5 of the reply report, sir, you identify that PEG asserts that its estimates of Toronto Hydro's 2013-2019 projected costs -- and these are PEG's words -- "implicitly" subtracts out bad debt expenses. 

     Do you agree with that?  

     MR. FENRICK:  No, I don't. 

     MR. SMITH:  Why not?  

     MR. FENRICK:  The reason I disagree with that is PEG laid out their methodology for how they calculated the projections for Toronto Hydro.  And that is really all we're dealing with on this issue.  

PEG and PSE agree on the historical data does not include bad debt expenses.  The US data now does not, for the PSE reply report and the PEG report. 

     The one issue is on the projections.  PEG says that they -- the bad debt expenses are implicitly added because of the methodology for which they calculated the projections. 

     What they -- what PEG did is they took PEG's 2012 cost measure and then to escalate it to 2013, 2014, 2015, et cetera, they took the growth rate in PSE's cost levels that are found in the original report, and took that growth rate and then escalated their 2012 measure to 2013, 2014, 2015, et cetera. 

     So the issue there is that in the 2012 PSE measure, bad debt expenses were not included in that cost definition. 

     In 2013, bad debt expenses were included in the cost 

definition. 

     And that was because in the 2012, we were unaware that bad debt expenses were excluded.  So we thought we would -- we should include those expenses moving forward for Toronto Hydro. 

     So we have an issue where our PSE's 2012 costs do not have bad debt expenses in there.  The 2013 costs do have bad debt expenses.  If you take that growth rate and apply it -- PEG's 2012 measure, that's implicitly adding bad debt expenses.  Just based on the math of -- the base year does not have bad debt expenses, the 2012.  The 2013 does have bad debt expenses.  

That's -- to my mind, that is certainly adding bad debt expenses into PEG's projections of Toronto Hydro's costs. 

     And in the reply report, we simply subtract out those bad debt expenses to come up with a more cost-comparable measure.  

     MR. SMITH:  Let's turn to the second adjustment, and as I understand it, that relates to conservation demand management expenses, and it is captured under heading 3.2. 

     Why don't you tell us what the issue is there, and the 

adjustment that you made?

     MR. FENRICK:  Yes.  So in the PEG report, they subtract out the customer service and information expenses from the US data.  

     This was in an effort to make costs comparable, because in the Ontario data set CDM expenses are not included, and PEG believes that the CDM expenses for the US utilities are included and they're included in the customer service and information expense category. 

     So what PEG did was to subtract out the whole customer 

service and information category from the US data set in an 

effort to make costs comparable. 

     The problem with that is Toronto Hydro certainly has 

customer service expenses embedded in the cost definition, and so we have a cost comparability issue.  By subtracting out all of the customer service and information expenses, the US data does not have customer service and information expenses in their cost definition.  

Conversely, Toronto Hydro does have those customer 

service and information expenses in its cost definition. 

And we know that because in the fourth-generation IR, the cost definitions certainly did include customer service functions within Toronto Hydro and the rest of Ontario. 

     So PSE looked at the situation and said:  Okay, how can we get costs to be comparable between the US sample and the Toronto Hydro -- in the Toronto Hydro and the rest of Ontario, for that matter?  

     The way to do it is quite simply just add the CDM expenses back into Toronto Hydro's definition, and then leave the CSI -- the customer service information -- expenses in the US sample. 

     So what we did was we went to Toronto Hydro and requested:  Hey, can you provide us with all of your CDM expense levels so we can add that into your cost definition?  

And so we did that in the reply report, and that creates a situation where the US data set now has 

customer service information and CDM expenses into the cost definition, and Toronto Hydro has all of their customer service information and all of their CDM expenses into their cost definition.  

So now we have more cost comparability, with the 

caveat we're not exactly sure -- it's very likely that's 

unfavourable to Toronto Hydro. 

     We contacted the FERC Form 1 team, as far as how CDM expenses are actually accounted for in the US, and it's unclear if all of those expenses are actually in the US cost definition.

But in an effort to avoid kind of gray area issues that we could quibble over, but it is hard to come with a true and fast realization or conclusion to them, we said:  Okay, we'll just agree with PEG all of the CDM expenses are in the US data set, and add Toronto Hydro's CDM expenses to those to create a cost comparability issue. 

     That also makes the cost definitions far more comprehensive as well.  

I don't think excluding customer service expenses is a very comprehensive cost definition.  When we're doing total cost benchmarking, the more comprehensive we can make the cost definition, the better.  

     In one of the interrogatories, PEG was asked, you know:  Why didn't you just add the CDM expenses?  The reply was:  Well, CDM is not in distribution rates.  

Very true, but there's been a precedent.  In the fourth-generation IR proceeding, when PEG did their benchmarking work they included contributions in aid of construction in the benchmarking cost definition to make costs more comparable.  I think that is the overriding guiding principle when doing benchmarking, is:  Can we get those costs comparable?  Can we get the same across the sample?

And to me, this is the way to do that, to make sure the US data has the customer service and information and CDM, Toronto Hydro has customer service and CDM, and then we can move forward.  That is the change number two that we suggest.  

     MR. SMITH:  All right.  Let's turn to the final adjustment you made, and it relates to the urban core and high-voltage variables.  

     And why don't you tell us the adjustment that you made and why, first at a high level?  And then I will have some more specific questions.  

     MR. FENRICK:  As far as the high level of the urban core variable, you know, we kind of -- we took a step back, and I talked to the engineering folks at Power System Engineering and asked them, you know:  Are there cost challenges to serving an urban utility, an urban core, dense -- highly dense urban core, such as Toronto?  Are there more challenges there than a more suburban or less urbanized utility might face?  

     And Mr. Sonju and others agreed that they thought that would be the case.  We actually put forth the engineering study that was in appendix 2 to my report that quantified and studied the added cost challenges to serving an urban core relative to other environments, such as suburban or rural, those types of things, and looked at the cost challenges and the cost implications of serving an urban core. 

     This essentially served the basis for our urban variable, that provided the justification to include that variable in there, because now we have an engineering basis and studies showing, yes, we do believe that costs will go up substantially, serving an urban core relative to other environments, with the exception of rural is also -- also a high-cost area.  It is kind of you have got two ends of the spectrum there.  

     MR. SMITH:  And just so the record is complete, is that your report, Mr. Sonju, entitled "Capital requirements for serving developed environments"?  

     MR. SONJU:  Yes, that's what Mr. Fenrick was referring to.  

     MR. SMITH:  And you agree with his summary of the conclusion of your report --  

     MR. SONJU:  Yes.  He did it quite well.  

     MR. SMITH:  -- with respect to the cost of serving an urban environment?  Thank you.


Okay.  So what did you do, then, with this hypothesis and engineering study as it relates to the urban core variable?

     MR. FENRICK:  Yes.  So given the engineering study and the hypothesis that serving a highly dense urban core will drive up costs, we then inserted -- we created the variable that's found in the original report, as well as the reply report, and tested the hypothesis:  Does this meaningfully drive electric utility total costs?  And what we found is yes, the sign was positive, which is what our a priori expectation was.  And it was also highly statistically significant at the 99.9 percent level, which led us to conclude yes, this is a highly significant cost driver.  It aligns with the engineering study.  All the statistics say this is a highly relevant variable.  This needs to be included into the model. 

     MR. SMITH:  And what does it mean -- you indicated earlier that it was positively signed.  What does that mean?

MR. FENRICK:  That essentially means that the coefficient, when you put -- you put these variables into the econometric model, and the coefficient was positive.  At a high level, what that means is costs are expected to increase if the utility is serving an urban core.

You know, all else being equal, if you have two equal utilities, as far as number of customers, you know, all the other variables, you have two of the utilities exactly the same but one is serving an urban core and the other one is not, the model would say that utility that's serving that urban core is going to have higher costs, cost benchmarks and cost level expectations, than that utility that is not serving that urban core.  

     MR. SMITH:  How did you arrive at a determination of whether the utility was serving an urban core?  

     MR. FENRICK:  There, we looked at Toronto, and it's a large city.  What we wanted to do is to have an objective threshold.  We didn't want to make arbitrary distinctions between what is and what is not. 

     To us, we used the 1 million -- if the population was 1 million or above, according to the US Census Bureau, it was given a value of 1.  To us, you know, a city serving -- or having the population of 1 million is a large city.  That seems like a really large urban centre along the lines of a Toronto. 

     So given that desire, we based it on having a 1 million population or above within the city limits.  

     MR. SMITH:  So let's turn to the adjustment you made.  What was the adjustment that you made in the reply report?  

     MR. FENRICK:  Relative to the model that PEG put together, a fairly simple adjustment, as far as, we simply substituted, you know, the urban core variable in -- because we feel that that variable is needed.  It's statistically significant.  All the engineering theory says it should be included. 

     So we inserted that into the model, replacing PEG's high-voltage variable, which is incorrectly signed based on their corrected econometric model.  It has the wrong sign.  It is a negative sign, which means the more high voltage a utility serves, costs actually go down.  That violates the benchmarking principle of needing to have a correctly signed, sensibly signed variable. 

     That variable is also statistically insignificant, meaning it has no -- you know, you cannot reject the hypothesis that that variable is actually a meaningless variable. 

     In my experience and number of years doing this, estimating a lot of total cost models, I have never actually come across a business condition that is incorrectly signed and statistically insignificant.  Those aren't included in benchmarking models, based on established industry principles, some of which were established by PEG themselves.  And you can see in the reply report some quotes there.  

     And so we felt that variable cannot stay.  It violates benchmarking principles best practice.  That needs to be taken out.  We need to insert the urban core variable to capture those extra urban costs. 


MR. SMITH:  And when you say "insert the urban core variable," was the urban core variable included in your initial report?  

     MR. FENRICK:  Yes, it was.  And then PEG took that urban core variable out, and then we reinserted it. 

     MR. SMITH:  I see.  Okay.


Let's -- it's in writing, and we needn't go over it, but there is further explanation for your conclusion with respect to the urban core variable, sir, if I understand it, throughout section 3.3 at pages 7 through 9; is that correct?  

     MR. FENRICK:  Yes, that's correct.  Responding to some of the criticisms from PEG.  

     MR. SMITH:  And after we take the adjustments that you've -- the three adjustments that you made, what is your conclusion?  

     MR. FENRICK:  So the conclusion is consistent with PSE's original report.  We found after making those three adjustments that we discussed, the utility -- the historical total costs of the utility are minus 15.2 percent below benchmarks for the 2010 through 2012 period.  That's, again, statistically significant.


Similar to the original report, that total cost finding increases over the custom IR period but still remains in the normal -- the normal range of the plus or minus 10 percent range, which is the 0.3 percent stretch factor that was set in fourth-generation IR.  

     MR. SMITH:  Thank you very much.  Those are my questions in examination-in-chief.  And thank you very much, members of the Board.  

     MS. LONG:  Thank you, Mr. Smith.  

     Ms. Helt, do I understand that you are going to start cross-examination on behalf of Board Staff?  

     MS. HELT:  That's correct.  

     MS. LONG:  Thank you.  

     MS. HELT:  Before I get started with the cross-examination, Madam Chair, I have provided a compendium of documents from Board Staff.  It's in a three-ring binder, and the witness panel also has a copy of it before them.  It has also been provided electronically, and I understand that we will be able to refer to the documents electronically as I go through my cross. 

     At this time I would like to have the compendium marked as Exhibit K2.1. 

EXHIBIT NO. K2.1:  BOARD STAFF COMPENDIUM OF DOCUMENTS.
     MS. HELT:  That is the Board Staff compendium of documents.  And I also note that that compendium will be used by Board Staff throughout this proceeding.  So it provides the documents Staff will be referring to in cross of the various panels.  

     And also perhaps, Madam Chair, before I get started, I know it is the practice of the Tribunal to take a break in the morning.  Maybe I can try and adjust my cross to reflect a break at 11:00 a.m., if that is what you're thinking. 

     MS. LONG:  We will break at 11:00. 

     MS. HELT:  All right.  Thank you.


CROSS-EXAMINATION BY MS. HELT:  

Good morning, members of the witness panel.  My name is Maureen Helt, and I am Counsel with the Board.  

     I have some questions for you, and as I indicated, I have provided you with a compendium.  The documents I will be referring to start at page 57 of that compendium, which I believe is the third tab in the binder. 

     Mr. Fenrick, most of my questions will be directed at you for your answers.  And in that regard, I would like to just first clarify a couple of points that you made in your examination-in-chief. 

     The first point is with respect to adjustment 2 that you referred to, relating to the CDM expenses, and you noted in your examination-in-chief that PSE added in THESL's CDM expenses; is that correct?  

     MR. FENRICK:  Yes, that's correct. 

     MS. HELT:  Can you just clarify, did you include also the projected CDM in your cost evaluation, not just historical?  

     MR. FENRICK:  Yes, we did.  We looked at the historical, the company -– Toronto Hydro provided us with the historical and then also their projections to 2015, I believe it was.  

So those were put in, and then we escalated it based on the same way we treated OM&A within the projections. 

     MS. HELT:  Okay.  Thank you.  And then with respect to the urban core and high-voltage adjustment, shouldn't there be a variable in the model to capture the differences in the high-voltage distribution, to ensure that the US and THESL are comparable?  

     MR. FENRICK:  The issue there is -- in PSE's original report, we used the cost definition that PEG characterized as the TFP cost definition.  But really what that was was a definition of costs that were in distribution rates.  That cost definition included high-voltage expenses, which is found in PEG's fourth-generation IR report where they lay out those different cost definitions. 

     So our original cost definition, corrected, had the high-voltage expenses in for Toronto Hydro, and really this is pretty -- I don't want to say a minor issue, but the expenses that we're talking about here are fairly low.  It's not going to sway the results in a meaningful way. 

     And so we wanted to limit the focus in the reply report to only those substantial, meaningful issues, those three changes, which is why we didn't want to start quibbling about cost definitions.  We basically used PEG's cost definitions, with the exceptions noted in the three –-in the first two changes, actually.  

     MS. HELT:  So then in your opinion, just to clarify, you don't think there needs to be a variable in the model?  

     MR. FENRICK:  No, certainly not one that's incorrectly signed and statistically insignificant.  It's my opinion that that invalidates the model.  

To violate best practice and principles, to me is -- that variable is coming to where there is not a statistically significant impact there. 

     And the practice in our industry is to not include that variable.  

     MS. HELT:  Okay.  Thank you.  I would like to refer to page 57 of the compendium.  I am going to be asking some questions with respect to the reasonableness of THESL's costs, just to give you an idea of where I'm going with this.  

     So on page 11 -- this is the PSE benchmarking report -- I am looking at the bullet point number 3.  And you state in the second sentence here: 

"By 2019, the company is estimated to still be below benchmark value by 2.6 percent.  Based on this, the company's customer IR projections are, in our opinion, reasonable from a benchmarking perspective."

     I am looking specifically at the words "based on this," where you say:

"Based on this, customer IR projections are..."

Et cetera. 

     Doesn't this, based on this introductory clause, mean that PSE found THESL's projected custom IR costs were 

reasonable, because they were below the benchmark costs 

between 2015 and 2019?  

     MR. FENRICK:  No.  I would say we found the benchmarking costs to be reasonable, because they were in the normal range. 

     You know, within an econometric model, there is going to be some data noise.  There's a level of unknown that needs to be accounted for.  And so there's a range of where a utility can be statistically superior, you know, normal -- within the normal range, or superior or inferior. 

     Toronto Hydro, even within the custom IR period, is well within that normal -- that normal range.  Even within fourth-generation IR, the Board recognized that there needs to be kind of a normal range, and that was the third cohort, the 0.3 percent stretch factor, which was plus or minus 10 percent for the total cost benchmarking. 

     Toronto Hydro falls within that.  Even with their projected spending plan, they still fall within that normal range, which to me is a reasonable expectation from the benchmarking perspective.  

     MS. HELT:  If we go now to page 58 of the compendium,  this is table 2 of the PSE reply report, and I am looking specifically at the years 2015 through to 2019, which are at the bottom four rows of that report.  

     We see THESL's projected costs are above PSE's benchmark costs in every year of the custom IR plan, between 4.1 percent and 7 percent.  

     Do you agree with that?  

     MR. FENRICK:  Yes.  

     MS. HELT:  And do you then still believe that THESL's costs are reasonable, based on those numbers?  

     MR. FENRICK:  Yes, I do.  Again, those numbers are well within kind of the normal range.  From a statistical perspective, those are not statistically significant findings.  

Also from the perspective of the fourth-generation IR proceeding, where that middle cohort was plus or minus 10 percent, it still falls within kind of that normal range by that definition as well.  

     MS. HELT:  All right.  Would PSE support a reduction of THESL's revenues by an amount slightly greater than the values presented in the first column of table 2, excluding the "Year" column, in order for THESL's costs of service to remain below the benchmark cost levels?  

     MR. FENRICK:  Could you let me know what exact numbers are you looking at?  

     MS. HELT:  Again, I am looking at the 4.1 to the 7 percent.  

     [Witness panel confers]  

     MR. FENRICK:  As far as your question, no, PSE would not support that, that reduction.  

You know, I looked at the benchmarking from a high-level data perspective, and did the econometric benchmarking in comparing Toronto Hydro's projected costs to the benchmarked costs.  And my finding is these costs are in the normal -- the normal range of the benchmark study.  

And so to me, this is -- this kind of discrepancy you are noting in here, as far as Toronto Hydro's actual costs or projected costs to the benchmarks, it's kind of data noise, if you will, that's within -– it's statistically insignificant. 

     And so from an econometrician's perspective, those costs are essentially on the benchmark value.  That is kind of what, from a statistical perspective, the finding is, as well as within the normal range set in the fourth-generation IR. 

     So I would not support -- you know, these findings can't necessarily be used in that manner.  That's kind of 

an improper -- improper use of the benchmarking findings, to reduce and get the costs to be below.  There has to be some recognition that there is some variation and some statistical noise, if you will, and I think that's been recognized by the Board in the fourth-generation IR, and I think it should be recognized here as well. 

     MS. HELT:  Just so that I understand, then, essentially what you're saying is that even though the THESL costs are above the benchmark, these amounts are statistically insignificant, or data noise?  Is that what you're saying?  

     MR. FENRICK:  Yes.  As far as any sort of standard threshold of having 90 percent confidence in the results being different from the benchmark values, you cannot put that level of confidence into the discrepancy here, as far as the amount being over or under. 

     You know, compared to the historical performance evaluation of Toronto Hydro, which we did find was statistically significant -- significantly below the benchmark values, you know, there we can say we're 90 percent confident that the Toronto Hydro was performing at a below-cost level. 

     Here, we cannot put that much confidence into the results, which, again, to an econometrician, you know, these values are within the normal range of what you would expect kind of normal variation to be. 

     MS. HELT:  All right.  Thank you.  The next matter -- 

     MS. LONG:  I'm sorry, I had a question.  


MS. HELT:  Yes.


MS. LONG:  So, Mr. Fenrick, are you saying that -- is it the plus or minus 10 percent that is -- I guess is not statistically significant?  Is that your evidence?  If it's outside that range, then it does become significant?  But if it is within that range then the Panel couldn't be concerned because it is statistically insignificant?  Is it the 10 percent?  

     MR. FENRICK:  No, not precisely the 10 percent.  There's two -- there is kind of two definitions here.  

     From a statistical perspective, it is probably actually above 10 percent that would be statistically significant.  I don't know exactly what that critical value is. 

     I know the minus 15 percent was statistically significant.  And so -- and that was kind of on the borderline of statistical significance.  So it's probably, from a statistical perspective, around that range of kind of like 15 percent above.


The second definition is kind of the Board's in the fourth-generation IR, where that third cohort was set at plus or minus 10 percent.


So to answer your question, it is not exactly -- the plus or minus 10 percent isn't exactly the threshold for statistical significance, although they're kind of in the ballpark of around that range.  Does that answer...

     MS. LONG:  Sort of.  Thank you.  

     MS. HELT:  I would like to go to the issue of other variables that reflect urban characteristics.  So if we turn to page 59 of the Board Staff compendium, and I am going to be referring to pages 59 through to 62, which are pages 6 through 9 of the PSE reply report.  

     This section of your report addresses the need for an urban core dummy variable.  Does it also address all the PEG evidence regarding the additional costs of serving urban environments?  

     MR. FENRICK:  What evidence are you referring to?  

     MS. HELT:  Well, specifically if I look at PEG's response to THESL Interrogatory 33, which is found at page 64 of the compendium, in this interrogatory at part (b), THESL asked:

"Does the final PEG model control for the added costs of serving urban environments?  If 'yes,' please explain."

And there, Dr. Kaufmann refers specifically to four different variables in the PEG model.  

     So with respect to those variables, are those also discussed in your report, in this section of the reply report?  

     MR. FENRICK:  No, they're not.  The reason being the PEG report did not discuss this rationale that they put forth in this interrogatory within their report.  So our reply report constrained itself to replying to what was actually provided in the PEG report as far as the rationale for not including the urban environment, urban core variable. 

     I would say, as far as this response -- 

     MS. HELT:  Are you referring to the THESL -- 

     MR. FENRICK:  The THESL Interrogatory 33. 

     MS. HELT:  Yes. 

     MR. FENRICK:  This -- these variables that PEG is mentioning are meant to capture the economies of scale.  Due to the trans-log cost function, there's interaction in quadratic terms that are meant to capture the economies of scale --

     MS. HELT:  I'm sorry, you just said "interaction in quadratic terms"?  What does that mean in a layperson's language?

     MR. FENRICK:  Sorry.  

     MR. SMITH:  Come on.

[Laughter] 

     MR. FENRICK:  Let me define that.  So PEG in the response has -- mentions four variables.  N times N, which is customers times customers, so one of the variables in both PEG's model and the PSE model are a quadratic term, which is the variable is customers times customers.  

     What that is meant to capture is the economies of scale in serving a utility industry, that there are certain economies of scale or diseconomies of scale, and it is capturing that impact of, when customers go up, what do we expect costs to be.  

     Those variables are not meant to capture the added costs of serving an urban core environment.  If I could give you an example of those two utilities that are exactly the same, they have the same number of customers, same variable values, but one -- one does not serve an urban core and the other one does.  

     These interaction terms are not -- are going to have the exact same cost predictions for the utility that does not serve an urban core and the utility that does serve an urban core, regardless of these interactions that -- or these other variables that PEG is putting in here. 

     So these variables are not capturing the urban core cost impacts that are present based on our engineering study and statistical look at these things. 

     Further evidence is PSE has all of these variables in our model as well.  And yet the urban core variable is still found to be statistically significant at a 99.9 percent confidence level, which tells us these variables are not picking up the impact of serving an urban core from a statistical perspective.  

     MS. HELT:  All right.  Then can I just ask you whether or not you would agree, though, that these variables are designed to capture underlying technology, including technology associated with urban characteristics?  

     MR. FENRICK:  Can you define what you mean by "technology"?

     MS. HELT:  Certainly.  Just one moment, please.  

     So essentially my expert has informed me it is for any technology associated with production, so any firm using production technology.  Does that assist in your understanding?  

     MR. FENRICK:  What is your question regarding what the variables are picking up?  

     MS. HELT:  Just technology really that is associated with urban characteristics.

     MR. FENRICK:  No.  These variables are intended to pick up the economies of scale impacts and the impacts of serving more customers or serving higher levels of peak demand. They're not at all getting at the urban characteristics of utilities.  

     MS. HELT:  All right.  So essentially your response is that those variables, just as you said, don't deal with urban characteristics?  That's your evidence?

     MR. FENRICK:  Yes, certainly not explicitly.  There are a number of customers and peak demand which has no connection to an urban core.  

     MS. HELT:  Okay.  Thank you.  

     Does your reply report, again in this section, sections -- pages 6 to 9 of your report, does it also consider Dr. Kaufmann's response to Interrogatory 1, THESL 11, which is found on page 68 of the compendium, which really are questions with respect to construction costs and US Census Bureau Data?

     MR. FENRICK:  No.  Again, that argument was not put forth in the PEG report, and our reply report responded to what was actually put forth in the PEG report.  And this line of argument about the urban core variable was not put into the PEG report.  

     MS. HELT:  And if we look at this answer to the 

interrogatory provided by Dr. Kaufmann, 1 THESL 11 on page 68, Dr. Kaufmann presents data on electric utility construction prices throughout the US, and concludes that -- this is on page 69 of the compendium in the second or third paragraph, the last sentence:

"Nevertheless, PEG believes this is strong evidence that there is a positive correlation between electric utility construction prices and the degree of urbanization throughout the US."

     Would you agree with that statement?  

     MR. FENRICK:  Yes, I would agree that there's a correlation.  But I think we need to look at what the "nevertheless" is actually referring to in that sentence.  

     Before it, PEG says:

"This analysis is indicative only, and it does not control for differences in assets that may be installed to serve the most densely populated areas compared with less densely populated territories." 

And that's exactly right that, yes, there likely is a correlation between construction prices and urbanization. 

     What that variable or what the capital construction cost index is not capturing is that there's a whole entirely different process involved in putting assets in the ground in an urban environment than in a rural or suburban environment. 

     Perhaps Mr. Sonju, my colleague, can discuss what these indexes -- because he actually uses these in cost estimation, these indexes and these type of things. 

     Maybe you can provide, Mr. Sonju, some light on what these indexes are saying and what they are not saying.  

     MS. HELT:  That would be helpful.  Thank you.  

     MR. SONJU:  Sure.  One moment.  

     [Witness panel confers]  

     MR. SONJU:  Okay.  Thank you.  I just wanted to verify what specific indexes we were referring to, and from my understanding it is related to the RS mean issue indexes in terms of costs, comparison between one city environment, or one city to another. 

     So when using these indexes, from a cost-estimating standpoint of construction, you have to, first of all, fully understand what RS mean did to develop these indexes. 

     Specifically, what they've done is they have identified a number of building types -- be it residential, commercial, schools -- and took the average composite of those building types and said:  From one city to the next, we're assuming that is exactly the same. 

     The differences that are involved between city A, the cost of building, let's say, a building in one city versus another, is the cost of materials to build that facility, as well as the labour hours to -- excuse me, not the labour hours but the labour cost to construct that facility. 

     What isn't taken into account is if there is a difference in, let's say, the process to construct facility A versus facility B.  

     For example, if we look at -- from a utility standpoint, just take a simple -- let's say a pole.  To construct a pole or place a pole in the ground or replace a pole in the ground in a rural area is much different in relation to an urban core area.  

     In an urban environment, it is pretty simple.  You can -- construction practices are such that you can lean over the existing pole, you auger out a new hole, you put a pole right next to it, you transfer your wires over and it is complete.  

The amount of man-hours to do that is considerably different than what you would see in an urban environment where, in an urban environment with a pole, it would be maybe surrounded by concrete that needs to be broken up.  You have traffic control that's involved, and the cost with those, and significant more complications to change out that pole.  

In relation, it has additional hours and a different process. 

So when you try to take -- when you try to take the RS mean index factors, that is really looking at the cost of materials and the difference in cost and labour, it is not taking into account the difference that there is a process change from one setting to another. 

     MS. HELT:  Thank you.

If we turn back to page 69 of the compendium, I am looking at specifically the final paragraph of the response to 1 THESL 11, starting with "moreover." 

     And specifically -- I won't read the entire paragraph into the record.  But if you read that final paragraph, and specifically the last part of it where it talks about PEG's model controlling directly for differences in construction costs across various service territories, whether or not you agree with this conclusion of Dr. Kaufmann.  

And you can just take your time to read the paragraph.  

     [Witness panel confers]  

     MR. FENRICK:  We don't agree, essentially because of the rationale Mr. Sonju just laid out, that there are different, substantially different processes to constructing assets in an urban environment relative to suburban or rural-type areas. 

     So while these construction cost indexes do pick up, you know, the labour wage differences or material price differences, they're not picking up the different processes that an urban core utility needs to undertake relative to its peers that are not urban core. 

     I would also like to mention that PSE's model also has these construction cost indexes in them, exact same -- exact same construction cost indexes, same mapping, same everything. 

     So we're also accounting, in our model, for these 

differences.  I mean, this is one area of agreement between PSE and PEG, that these construction cost indexes should be 

included in the benchmarking. 

     However, the urban core variable is also coming in 

statistically significant, which tells us these are just 

measuring the labour wages.  They're not getting at the processes of serving an urban core environment.  You need an explicit variable to do that. 

     And that comes out in our engineering study, showing 

substantially more costs serving an urban core environment.  And it comes out statistically in our models as well.  

     MS. HELT:  So then would your answer not change, though?  I mean, Dr. Kaufmann specifically states that the cost price differences are reflected directly in the capital service price.  

     So aren't local construction costs directly reflected, then, in that capital service price?  Would you agree with that?  

     MR. FENRICK:  Does Dr. Kaufmann mean that, for the exact same asset, this captures the costs?  Or the costs in the entirety of serving an urban core versus -- 

     MS. HELT:  I think it is specifically referencing the price.  

     MR. FENRICK:  So yes, that variable absolutely picks up that prices for a labour hour, for instance, will cost more in Toronto than -- I'm from Madison, Wisconsin, and the labour costs are likely higher here than in Madison, Wisconsin.

That variable certainly picks up that difference.      It does not pick up the fact in an urban core environment there is a lot more labour hours that need to be put forth in constructing assets and those types of things. 

     MS. HELT:  So then aren't -– basically, then, construction prices are generally higher in larger cities; do you agree with that?  

     MR. FENRICK:  Generally, yes, I think that's true. 

     MS. HELT:  So then how can PEG's model not control for the impact on -- or of urbanization on electricity distribution prices and electricity distribution costs?  

     MR. FENRICK:  As we have talked about, those construction cost indexes are really looking at just the labour prices for one labour hour here in Toronto versus a labour hour somewhere else in the sample, and looking at the differences in those two things.

This is not taking into account the extra labour hours that need to go into putting in assets in an urban core environment.  It's not intended to pick up that.  The RS means -- is intended to pick up price differences between constructing like-for-like assets. 

     And so while it is an important price to include in the econometric model, and we include it, PEG includes it, it is not picking up the urban core characteristics that go into just taking a lot more labour hours to distribute electricity.  

     MS. HELT:  Thank you.


Panel, perhaps this is a good time to take a break. 

     MS. LONG:  I think so, yes.  We will come back at 11:20.  

     --- Recess taken at 10:56 a.m.


--- Upon resuming at 11:22 a.m.

MS. LONG:  Please be seated.

Ms. Helt?

     MR. SMITH:  Just one very brief preliminary matter.  My apologies.  

     It was drawn to my attention by Mr. Sonju that in answer to one of Ms. Helt's questions, he compared an urban pole to an urban pole. 

     I think it was clear from the context that he was comparing a suburban pole to an urban pole, but I thought that ought to be noted for the record. 

     MS. LONG:  Thank you. 

     MS. HELT:  Thank you, Madam Chair.  

     To continue on with our cross, the next set of questions that I am going to ask you -- and primarily again to Mr. Fenrick -- is with respect to the urban core dummy variable.  And I am going to be referring to documents starting at page 70 of the Board Staff compendium.  

     This is page 3-7 of the PSE engineering report.  And looking at the first two sentences of this page, it talks about the selected metropolitan/core downtown urban area, area 6, is located directly in the heart of downtown Toronto.  

The area is classified by PSE as a highly dense, mostly commercial area consisting of skyscrapers that serve as office towers, apartments, condominiums, hotels, retail operations including restaurants, and large and small stores.  

     So this area 6 then, it is PSE's position that this applies to the metropolitan urban core of Toronto; is that 

correct?  

[Witness panel confers]  

     MR. SONJU:  Just to clarify the question, are you asking -- there's two reports here, the one that Mr. Fenrick provided and then the appendix, which I completed from an engineering review.  

Being that they're two separate reports, are you asking how we're defining "urban core" from a benchmarking standpoint, or from the perspective of this engineering study?  

     MS. HELT:  From the benchmarking perspective.  

     MR. FENRICK:  Then I might perhaps be the best person to answer that.  

From the benchmarking perspective, the urban core variable was defined as a city -- if a utility was serving a city with a population of 1 million or greater within the city limits.  

     MS. HELT:  Okay.  So the nature, then, of the -- it's a metropolitan urban core; is that how you're defining it as well?  

     MR. FENRICK:  The benchmarking definition?  

     MS. HELT:  Yes.  

     MR. FENRICK:  I believe we just called it an urban core variable.  

     MS. HELT:  All right.  And in the engineering report, you do refer to it as a metropolitan urban core; is that correct?  

     MR. SONJU:  The area 6 that was studied in the engineering review was defined as an urban core. 

     MS. HELT:  And is it referred to as a metro urban core?  I mean, at the top of the page it says, "Area 6 metro/urban core." 

     MR. SONJU:  Correct.  We call it a metropolitan urban core area. 

     MS. HELT:  How did you define "metropolitan," then?  Is there a specific definition to that?  

     MR. SONJU:  Just basically the description that we 

indicated, that it's within the heart of the downtown area.  

     MS. HELT:  All right.  So my question then really is:  If a US utility has similar conditions as that noted in the report here, and the classification by PSE of an urban core being highly dense, mostly commercial area consisting of skyscrapers, retail operations, restaurants, large and small stores, so if a US utility had similar conditions in a part of its service territory, would you also consider that, then, to be an urban core area?  

     MR. FENRICK:  From the perspective of the benchmarking 

model, again we wanted to make an objective threshold which was set out as 1 million, which seemed to us to be a fairly large city, if it was -- had a population of 1 million or greater. 

     Certainly there's other cities that have similar-type 

characteristics, but not to the extent of large cities that have over a million in population. 

     And so there's -– there is kind of a disconnect there, where a city may have a small pocket of an urban core-type area, but nothing along the lines of a Toronto or New York City, where it is an extensive urban core environment that the utility is serving in. 

     MS. HELT:  All right.  So then this actually leads into my next question. 

     If we go to page 71 of the compendium, you will see a 

sentence that I have highlighted, and this is from page 17 of the PSE benchmarking report.  

     And you say:

"All utilities are given a value of zero..."

And we're talking about the urban core variable value here.

"... unless they serve the urban core of a city whose population is above 1 million."

And you say US cities are designated by the 2010 US census.  So you relied on the US census data to select your urban areas; is that correct?  

     MR. FENRICK:  Yes, that's correct.  

     MS. HELT:  And do you know how many metropolitan areas in the US have a population of a million or more?  

     MR. FENRICK:  Based on what source?  

     MS. HELT:  Well, again, using US Census Bureau data.  

     MR. FENRICK:  You mentioned metropolitan; is it metropolitan, or a city limit definition?

     MS. HELT:  Well, the first question is just for those who have a population of 1 million or more.  

     Metropolitan, then, let's define it a little more narrowly, then.  A metropolitan area of a population of 1 million or more.  

     MR. FENRICK:  No, I'm not aware of how many cities would meet that definition, which isn't the definition that we used.  We used the city population density based on the US census. 

     MS. HELT:  So just to be clear, then, the city population definition is above 1 million?  

     MR. FENRICK:  Yes, that's correct. 

     MS. HELT:  All right.  So subject to check, would you agree that there are perhaps 52 cities in the US that have a population of 1 million or more, in a metropolitan area?  

     MR. FENRICK:  Again, subject to check.  But that's not the definition that we used.  We used a city population definition of the US Census Bureau. 

     MS. HELT:  Okay.  But would you agree, though, that if there were 52 US metropolitan areas with 1 million or more in population, they would all have an urban core?  

     [Witness panel confers]  

     MR. FENRICK:  I would say, without investigating those 

cities, the make-ups of those metropolitan areas, I would -- that's kind of outside of the realm of what we have investigated as far as looking at the composition of those cities. 

     I would say certainly -- I can certainly say they would not have the extensive urban core that, for instance, a New York City might have.  

     MS. HELT:  Why would you say that?  

     MR. FENRICK:  Say that the other 52 cities, kind of on 

average in general, would not have the urban core, the extensive urban core that New York City has?  

     MS. HELT:  Correct. 

     MR. FENRICK:  Is that your question?  

     MS. HELT:  Yes. 

     MR. FENRICK:  Just based on my general knowledge of New York City and other metropolitan areas, New York City and Chicago and places like that are going to be much, much more extensive in their urban core environment than, say, you know, some other example of a city in general terms.  

     You know, I say that without actually looking -- looking at the urban core make-up.  That would take a considerable amount of time, to look at the urban core make-up of all 52 cities. 

     So I just say that as a general statement.  You know, as far as the extensiveness of the urban core area, my impression, to my mind, you know, a New York City is going to have a great deal more of the urban core environment.  

     MS. HELT:  Okay.  So I appreciate that you haven't looked at those, or didn't investigate those 52 other, perhaps, metropolitan areas that have an urban core.  

In your analysis, you looked at four large urban areas with urban cores in the US; is that correct?  

     MR. FENRICK:  Yes, it's correct that, based on the threshold of 1 million in population, four US utilities were essentially given a value of 1 for that urban core variable within the benchmarking. 

     MS. HELT:  And so why did you limit it to those four, though?  Because surely there are more than four that have 1 million and defined as an urban core as you have defined it.  

     I'm just wondering -- what I'm trying to get at, Mr. Fenrick, is why only four of the possible 52.  And I appreciate again that was subject to check, that number.  

     MR. FENRICK:  Again, we used -- we did not use the metropolitan definition.  We used the city limit definition of the US Census Bureau.  And there it is a much more focused population measure, and so there are not 52.  There's much less than 52.  

     MS. HELT:  And I apologize if you've already answered this, but I am going to ask you again.  And why is it that you use that definition, then, to limit it to -- or to use the more narrow definition that results in only a sample of four, as opposed to a sample of 52?  

     MR. FENRICK:  When doing econometrics and creating variables, you want an objective threshold.  We didn't want to have an arbitrary variable that's just based on our impressions.  We wanted to have an objective threshold.  To our mind, that 1 million threshold included large cities along the lines of a New York City and Chicago, which we felt really captures a number of the challenges that Toronto Hydro faces in serving the Toronto urban core downtown. 

     And so we didn't -- we didn't necessarily want to make those arbitrary distinctions.  We wanted a threshold and then statistically test it.  It came out highly significant.  And so we used that definition within the variable.  So -- 

     MS. LONG:  I'm sorry, can I just interject here?  I'm not sure I understand your evidence, Mr. Fenrick.  Are you saying that, based on your criteria, there were only four cities that you felt met that criteria and were therefore comparable to Toronto Hydro?

     MR. FENRICK:  Yes, that's correct.  There are some other cities that are above 1 million.  However, we didn't have good data.  They're either served by municipal utilities, so they don't file a FERC Form 1, or the data was not available.

     So as far as the cities that met the threshold of 1 million and filed a FERC Form 1 and had good data, those were inserted into the -- 

     MS. LONG:  Into the report?  

     MR. FENRICK:  Yes, the report.  Correct.  


MS. HELT:  Would you agree if you had used -- and I know this is a hypothetical, but if you had used the metropolitan definition and there were 52 similar cities, then would that not result, having a sample of 52, in a more accurate estimate, as opposed to having a sample of four, from an econometric viewpoint?  

     MR. FENRICK:  No, I would disagree that it would result in a more accurate assessment, because what we're trying to get at with that variable is serving a highly dense urban core along the lines of a Toronto, which is one of the largest cities in North America, you know, growing at a rapid pace, you know, highly dense urban core.  

     We felt cities like New York City and Chicago are much more comparable to Toronto than -- you know, I don't know what the list of 52 is, but my guess is on the bottom of that list or even the middle you're not going to have cities that in any way have the extensive urban core challenge that a Toronto has.  

     MS. HELT:  And when you were reviewing Dr. Kaufmann's report, did he present any evidence in this case on the cost impact of an urban core dummy when this dummy variable includes more than the four utilities that PSE selected?  

     MR. FENRICK:  I believe there was an interrogatory where that was mentioned.  

     MS. HELT:  Yes.  It is at 1 THESL 30, which I don't believe I have in my compendium.  Let me just check.  It is 1 THESL 30.  

     All right, then.  Can you pull that up, perhaps?  Oh, it's up.  I'm sorry.  

     All right, then.  So the answer to that would be yes, then.  There is evidence that he presented with respect to -- when the dummy variable includes more utilities than what PSE had.  

     In the response it looks to be that there are 27 utilities serving urban cores which were covered by the urban core dummy included in Dr. Kaufmann's response; would you agree with that?  

     MR. FENRICK:  Yes, I believe they added 23 utilities to the four that were already there, which would make 27.  

     MS. HELT:  So in the benchmarking model where the dummy variable applied to the 27 US urban core utilities, did the results show that the urban core dummy variable was associated with higher electricity distribution costs?  

     MR. FENRICK:  No.  On the contrary, it showed that the urban core variable came in negatively signed, which would be an incorrect sign, and also statistically insignificant, which is page 41 of the -- where the PEG showed the model with the 27 urban core definition.  

     So we see -- and on page 40, where they used the PSE urban core dummy, the variable again comes in correctly signed and highly statistically significant at a 99.7 percent confidence level. 

     And this difference is exactly what I would have expected to see as you add and you go down the list of the cities that PEG added to that definition.  You're going to keep diluting the extensiveness of the urban core variable. 

     For instance, one of the utilities that I believe PEG put in there was Niagara Mohawk, which I believe the largest city there they serve is Buffalo. 

     There's vast differences between Buffalo and the city of Buffalo and Toronto and the city of Toronto. 

     So to the extent that PEG diluted this urban core variable, they get a result exactly what I would have expected, in that it comes in not significant, versus the first benchmark model that they put together that did include the PSE urban core variable comes in highly statistically significant. 

     MS. HELT:  Okay.  So if we can just touch on that, then, so you said that the coefficient when using the 27 utility analysis, the urban core variable was negative; is that correct?  

     MR. FENRICK:  Yes, that's correct. 

     MS. HELT:  And you said that's not statistically 

significant?  

     MR. FENRICK:  Yes, that's correct.  The T stat there is negative 0.93, which does not pass the threshold of statistical significance.  

     MS. HELT:  So doesn't this result show that when a more comprehensive urban core variable is used, then there's no statistically significant impact associated with this variable?  

     MR. FENRICK:  Could you define what you mean by "more comprehensive"?

     MS. HELT:  More comprehensive in that you're using 27 utilities as the sample, as opposed to the four.  

     MR. FENRICK:  If your question is "more comprehensive" means a larger number of utilities included in the urban core -- 

     MS. HELT:  Correct. 

     MR. FENRICK:  -- it shows that doing that, taking that approach, would not be the right approach.  It doesn't align with the engineering study that PSE put forth, and it doesn't align with the statistical validity of the definition that PSE used. 

     And so I would say that's -- that's exactly in line with what we would expect when you dilute that variable and you include utilities that don't have the extensive urban core challenges that the original PSE urban definition included. 

     So this model that PEG put forth here is not capturing the cost challenges of an urban -- serving an urban core environment.  Our study -- or the engineering appendix to my report showed that costs are substantially higher for urban environments. 

     This model, you know, that's a known business condition that this model is omitting and improperly capturing.  

     MS. HELT:  Okay.  So then if we look at those costs, then, and given the fact it is a negative variable and it is not statistically significant, I am going to ask you another question, and that is:  Wouldn't this result in turn support Dr. Kaufmann's statement that any higher costs associated with serving urban areas are already captured in PEG's econometric model, in the four variables identified in 1 THESL 33(b), which is found at page 64 of the compendium, and the higher capital service prices that were discussed in 1 THESL 11, which is at page 68 of the compendium?  

     MR. FENRICK:  No.  For the reasons we previously articulated regarding those arguments brought up by PEG, as far as the urban core in the RS means, which we showed that is not actually looking at the processes that are inherent in serving an urban core environment. 

     And the other rationale is that we discussed the PEG model -- when the urban core as defined by PSE -- if that's included in their model, that comes in correctly signed, sensibly signed, and highly statistically significant, which tells me the PEG model is missing a known cost driver, a cost driver that is substantiated by PSE's engineers, and one that makes kind of a common sense relationship as -- if you're serving a highly urban core area, costs are going to be higher than -- all else being equal, than if you're not serving that urban core 

environment. 

     So the PEG model is missing that known cost driver, and that cost driver needs to be included for the model to be valid.  

     MS. HELT:  All right.  Thank you.

I am now going to go to page 72 of our compendium, and this is the reference to page 2-1 of the PSE engineering report.  

     And specifically, I am looking at the sentence that is 

highlighted:   

"According to data reported by the municipal government, the population of the city of Toronto was approximately 2.8 million in 2012, while the census metropolitan area population of the Toronto area was approximately 5.5 million in 2011."

     Are you aware of how many cities there may be in the US that had metropolitan areas that would be of approximately the same or greater size?  

     MR. FENRICK:  No, I'm not.  

     MS. HELT:  Well, subject to check, would you agree that the number is nine?  And I will just basically indicate what those are: New York City, Los Angeles, Chicago, Dallas, Houston, Philadelphia, Washington, DC, Miami and Atlanta.  

     Subject to check, would you agree with that?  They all have a population greater than -- metropolitan areas greater than 5.5 million?  

     MR. FENRICK:  Subject to check, yes.  

     MS. HELT:  Thank you.  And how many of these that I have just listed are included in your urban core measure?  

     MR. FENRICK:  Could you go over that list again?  

     MS. HELT:  Sure.  And I know the answer, I think.  New York City and Chicago are included?  

     MR. FENRICK:  Yes, those two are included. 

     MS. HELT:  And the other ones that wouldn't then be included are Los Angeles, Dallas, Houston, Philadelphia, Washington, DC, Miami and Atlanta; is that correct?  

     MR. FENRICK:  Yes, that's correct.  

     MS. HELT:  So your urban core measure excludes seven of those nine that have the same size or slightly larger than Toronto?  Subject to check, of course?  

     MR. FENRICK:  Again, subject to check, most of those cities are served by utilities where they either don't file a FERC Form 1 or the data is not readily available.  So for most of those, that's the condition there.  

     MS. HELT:  All right.  And one of the four companies that you included in your urban core dummy variable was Arizona Public Service; is that correct?  

     MR. FENRICK:  Yes, that's correct.  

     MS. HELT:  And I'm just going to refer to it as APS from here on.  

     What urban core does APS serve?  

     MR. FENRICK:  APS serves the urban core of Phoenix, 

Arizona. 

     MS. HELT:  The Phoenix metro area?  

     MR. FENRICK:  It's the -- they serve the Phoenix urban core.  

Keep in mind we didn't define our variable based on the metropolitan area.  So I should amend my prior answer. Some of those didn't also meet our threshold, which is why -- they either did not file a FERC Form 1 or they didn't meet our threshold of the city population being 1 million or not.  So that is another reason why some of those did not enter the urban core variable equalling 1.

But to answer your question, yes, APS serves the urban core of Phoenix.  Salt River Project serves kind of the outlying areas around the urban core of Phoenix.  

     MS. HELT:  So it doesn't really serve -- APS doesn't serve most of the downtown of Phoenix?  It serves the outlying areas; is that what you're saying?

     MR. FENRICK:  Did you say APS or Salt River? 

     MS. HELT:  APS. 

     MR. FENRICK:  No, APS serves between Interstates 10 and 17.  There's, you know, the loop in Phoenix, and APS serves that downtown urban core area.  It's surrounded by the Salt River Project, but as far as that urban core area, APS serves that. 

     And that's really what we're after, is:  Do you serve an extensive urban core area?  And APS does serve within that, within that loop between the interstates.  

     MS. HELT:  All right.  Thank you for that.

I'm going to now move on to another area, the undergrounding variable.  

     And I am going to go back to -- not go back, go forward to page 73 of the compendium, looking at page 6 of the PSE reply report.  

     In the third paragraph, second sentence, we are talking about -- it states:

"Business condition variables that are incorrectly signed or statistically insignificant are not included in economic benchmarking models."

     That's what it states.  So then I am going to turn to page 74 of the compendium, table 7, and I am looking at the variable that is called -- the variable key UG.  You will see it in the top box, the third from the bottom.  And "UG" is defined as percent distribution plant underground, or the undergrounding variable.  

     Table 7 also shows that the estimated coefficient on the undergrounding variable -- if we go down, you will see it is actually circled as negative 0.035.  

     And the T statistic, which is right next to it and not circled, is negative 2.305. 

     So it appears that the estimated coefficient on the 

undergrounding variable does have a negative sign; is that 

correct?  

     MR. FENRICK:  Yes, it has a negative sign. 

     MS. HELT:  And can you just explain to me what that negative sign means?  Like, in particular, does the result mean a utility's costs will increase or decrease when it puts more of its capital underground?  

     MR. FENRICK:  The sign of that variable, the negative 

coefficient, implies that as the plant in service of 

underground increases, total costs are predicted by the model to decrease relative to firms -- all else being equal, the costs are predicted to decrease as undergrounding increases.  

     MS. HELT:  So is the undergrounding variable, then, in your benchmarking report correctly signed?  

     MR. FENRICK:  So undergrounding is one of those 

issues where we don't have a solid kind of a priori 

expectation of the sign. 

     On the one hand, it typically -- and I say "typically" because there are exceptions to this -- it typically does cost more to put capital underground, especially in an urban type environment. 

     Conversely, OM&A tends to go down as the level of 

undergrounding increases, which is why, in the third-generation incentive regulation model, which was just OM&A, the undergrounding had a negative sign with that model. 

     So we kind of have two conflicting things going on here where capital is predicted.  Capital is typically going to increase, capital costs, but OM&A is typically going to decrease as undergrounding increases.  So we have two conflicting reactions here and so we developed this variable.  And I didn't feel comfortable taking it out, because it was statistically significant. 

     We should say PEG did take it out in their report, and in the PSE reply report we stuck with PEG's reaction there.  We thought, you know, let's just agree on that.  Let's not quibble over this variable that is -- really doesn't impact results significantly.

But as far as it being incorrect -- which is your question -- no, I don't think it is incorrectly signed because of the two conflicting things as far as the OM&A costs and the capital costs. 

     I should also mention there are certainly cases where rural utilities actually have lower capital costs as the underground.  Maybe Mr. Sonju -- I know he has discussed this with me as far as sometimes undergrounding can actually reduce capital costs as well as OM&A costs. 

     If you have anything to add there, Mr. Sonju, or...

     MS. HELT:  I think that is sufficient.  That's all right.  But really, I guess my point with this as well was to try and understand why you -- you know, when we looked at the compendium on page 73, you basically said that business condition variables that are incorrectly signed or statistically insignificant are not included in economic benchmarking models, yet you did include it in this model.  But I take it it is for the reasons you have given; is that right?  I am just not quite sure why you would have it included, if the general practice is not to include it.  

     MR. FENRICK:  The reason that we included it in the original report was because there was conflicting cost issues, and where, you know, PSE -- I will speak for you here, Mr. Sonju, but where PSE itself has worked with utilities that underground their assets because it is lower cost than overhead, and so, given our knowledge as an engineering firm and as an economics firm, we're aware that undergrounding certainly has the capability to lower costs, especially in those rural-type areas where the US sample does have a number of rural utilities in there. 

     So that is certainly a plausible expectation for us, which is -- which is why we included it, with the general practice being, if we felt that was incorrectly signed and that it had to be positive and there was no rationale for it, yes, then we would have certainly excluded that variable and not included it. 

     But given our experience in this area, working with hundreds of utilities and undergrounding assets and the experience in the third-generation IR where it was found that undergrounding reduces OM&A costs, I wasn't comfortable taking that variable out. 

     Now, PEG did take it out, and we took it out of the reply report because we didn't -- we didn't want to have necessarily a debate.  We wanted -- to the extent this was kind of an area where the results really weren't impacted, we did take that out.

But that's the rationale for including it originally.  

     MS. HELT:  Okay.  Thank you for that.  

     I am just going to go back to the PSE engineering report and the area 6 metropolitan urban core analysis in that report.  

     I apologize.  I mean, it is referenced on page 70 of the compendium, but the questions I am going to ask are more high-level.

     Are you generally familiar with the engineering cost analysis that your firm developed for Toronto Hydro's urban core?  

     MR. FENRICK:  Are you asking me or Mr. Sonju?  

     MS. HELT:  Either one of you, whichever one is more capable of answering that.  I guess Mr. Sonju. 

     MR. SONJU:  Just to clarify, so the question is:  Are we aware of how the costs were established for that core area?  

     MS. HELT:  Yes.  Correct. 

     MR. SONJU:  Yes, we are.  

     MS. HELT:  Okay.  Did you -- when you were preparing that report, was it assumed that the downtown area for Toronto would utilize almost entirely underground infrastructure?  Is that correct?

And again, I apologize.  I think it's referenced at page 5 and 6 of the report, but I do not have it in my compendium.  5-6.

     MR. SONJU:  The costs were based on actual assets within that area.  

     MS. HELT:  And so there was nothing with respect to utilizing almost entirely underground infrastructure?  On page 5-6?  

     MR. SONJU:  The vast majority of costs are associated with undergrounding infrastructure.


MS. HELT:  Okay. 


MR. SONJU:  However, there is overhead infrastructure as well within that area. 

     MS. HELT:  When we say the "vast majority" -- that is fine, actually.  I don't need anything more. 

     Are you aware that PSE estimates the cost of serving this urban core was greater than any of the five areas PSE examined in Toronto Hydro's service territory?  


[Witness panel confers]  

     MR. SONJU:  I'm sorry, could you repeat the question?  

     MS. HELT:  Sure.  The PSE estimates that the cost of serving this urban core -- being the downtown area -- was greater than any of the other five areas PSE examined in Toronto Hydro's service territory.  

     MR. SONJU:  There was six areas in total. 

     MS. HELT:  Correct. 

     MR. SONJU:  Three of which were in the Toronto Hydro service territory, three of which were not. 

     MS. HELT:  Okay.  So then the other areas PSE examined in Toronto Hydro's service territory, if it wasn't five, then I guess it was two other areas?  

     MR. SONJU:  So of the three areas that Toronto Hydro serves that we're studying -- 

     MS. HELT:  Yes. 

     MR. SONJU:  -- those being the urban residential, urban commercial and metro urban core, the metro urban core had the highest cost per load density of those three areas. 

     MS. HELT:  And it was just -- in that type of calculation -- that was the only calculation you did, in terms of determining the cost?  

     So when we say it had the highest costs for that specific measure, were there other measures as well?  Or was it only that measure?  

     MR. SONJU:  There's two main measures that go into that assumption -- or to those results, I should state.  The two variables are the costs of the infrastructure within the area that was studied and the load density that was within that same area. 

     So those two values basically produce the results of the costs of the infrastructure to serve the load density which that infrastructure is in.  

     MS. HELT:  Okay.  Thank you.


Then the last area that I want to ask you a few questions on deals with the quality of the PSE reliability data.  And these are just looking at page 75 of the compendium.  I am looking at page 3 of the PSE reply report.

And specifically I'm going to ask a few questions with respect to the process used to develop these benchmarking results.  And generally speaking, benchmarking results -- to be accurate, we need to have as -- use data that is as transparent and as credible as possible.  You would agree with that?  

     MR. FENRICK:  Yes.  As a general rule, you want data that is true and the right observations.  You know, there's a constraint as far as resource constraints and those types of things, especially in the processing of reliability data. 

     MS. HELT:  All right.  For the data, you want to be able to source that data as well; isn't that correct?  For your benchmarking report?

MR. FENRICK:  Ideally, to the extent that you can, it would be preferable to have source data.  

     MS. HELT:  And when you were coming up with the SAIFI and SAIDI numbers, is it true that you weren't able to source all of that data?  I think there's approximately 20 percent that you were not able to identify; is that accurate?  For the source of the data, that is?  

     MR. FENRICK:  Yes, that sounds about right.  Keep in mind that with reliability data, this is a multi-year process of internet searches, hundreds of internet searches of looking for data.  And, you know, internet links leave, websites leave, data sometimes gets changed on the web. 

     And so yes, we weren't able to verify in our data set 20 percent or so of the observations. 

     I would say we made a good faith effort over the years in collecting that data set, and so we trusted it.  

As far as looking at verifiable data, I think PEG went to great lengths to create a verifiable data set that did have the source data. 

     And so with that data set and the data set that PSE trusts, the results are wholly similar, which we discussed earlier today.  If you look at figure 1 and figure 2, you do have two separate data sets, two different models, two experts, and basically nearly indistinguishable benchmark results on the reliability. 

     I think that speaks -- speaks volumes as far as how much we can trust the PSE results or the PEG results.  They're basically the same.  

     MS. HELT:  All right.  If you just give me one moment, 

please.  

     Thank you very much, panel 2.  I have no further questions.  

     MS. LONG:  Thank you, Ms. Helt.

Dr. Higgin, I believe you are next.  

CROSS-EXAMINATION BY DR. HIGGIN:

     DR. HIGGIN:  Thank you, Madam Chair.  So we will try to involve THESL in this next little section, not just PSE.  Okay?  

     Madam Chair, I have one request, which relates to the 

confidential CEI reports.  I am not going to pull those up, but I would like an undertaking to compare some of that data to THESL's actual data in evidence in this.  And that might require them to give them to me confidential -- I have signed the declaration -- or not.  That's the issue. 

     Perhaps I can tell you what it is.  In the report, that is the third issue; there is a comparison, amongst others, many comparisons of the five-year average for SAIDI, SAIFI and so on, and it is on page 39 of that report.  

     What I am trying to get is where THESL sits relative to that average at the current point, or in the area where it is 2013, actually 2013 data. 

     So that request would be -- I will give an exhibit from the evidence, and I am asking then to compare the data in that evidence to page 39 of the CEI report.  

     MS. LONG:  Dr. Higgin, do you want to deal with that now, or you want to put that piece of evidence to the witnesses and then ask Mr. Smith's view on whether or not he can provide that undertaking?

     DR. HIGGIN:  Yes, that's fine.  I just wanted to give you a heads-up that that's where I was going. 

     MS. LONG:  Thank you for the heads-up. 

     DR. HIGGIN:  If we can start there, then, I'm not going to pull up the report but my reference is page 39, and it is the evidence that relates to the total five-year average Canadian urban -- very important word, "urban" -- utilities. 

     They list in there the five-year average for SAIDI, SAIFI, et cetera, the reliability indicators.  

     Now, if you can pull up one of our IRs, and that is 2A EP 8, part (d) -- that is not confidential, of course -- you will see there on the screen the five-year average for THESL SAIDI, SAIFI and SAIDI.  Okay?  You see that average.

     All I'm asking is that you compare that average to the 

average of the peer group in the CEA report.  If that requires you to give it as a confidential response, fine.  I will leave that with counsel to decide.  

     MS. LONG:  Mr. Smith?  

     MR. SMITH:  I don't believe I have a concern with it.  I don't have page 39 of the CEA report in front of me, so I am a little bit hamstrung by that.

But I think, if I understand the question, it is simply to identify -- taking it as a given that page 

39 shows some five-year average for SAIDI and SAIFI --    to put where Toronto Hydro would be relative to that, having regard to the information we're looking at on the screen right now.  

And if that is what the request is, that seems fine. 

     MS. LONG:  Dr. Higgin, you're fine to deal with that by way of undertaking, as opposed to going in-camera and asking questions about it?

     DR. HIGGIN:  No, absolutely not.  By undertaking, please. 

     MS. LONG:  Okay. 

     MR. SMITH:  Yes, that's fine. 

     MS. HELT:  So then we will have that as Undertaking J2.1, and for the record it is a comparison of the five-year average on page 39 of the CEA report for SAIDI and 

SAIFI.  And this is with respect to Canadian urban utilities, with the SAIDI and SAIFI five-year averages that are in interrogatory 2A, EP 8, page 4 of 14.  

UNDERTAKING NO. J2.1:  TO PROVIDE A COMPARISON OF THE FIVE-YEAR AVERAGE ON PAGE 39 OF THE CEA REPORT FOR SAIDI AND SAIFI TO THE FIVE-YEAR AVERAGES FOR CANADIAN URBAN UTILITIES.

     DR. HIGGIN:  Correct, thank you.  

     MS. LONG:  Thank you.  

     MR. SMITH:  Just so it is clear, that's the five-year 

average 2009-2013, because that would be what is referenced in, I believe, the third CEA report that my friend is referring to. 

     DR. HIGGIN:  That's correct.  Thank you.  So thank you, having got that out of the way, let's try to focus in on reliability.  My whole questions are about benchmarking and reliability.  

     So first of all, can I ask THESL why is reliability 

important both to the utility, importantly, and to the 

customers.  Just give us a quick thing, why it is an important parameter that you manage by.  

     MR. WALKER:  Well, I think first of all, electricity is an essential service in our society and our way of life.  

     Also, reliability is a concern to our customers.  It is expressed to us in face-to-face meetings with them.  It is also expressed to us in the surveys that we've done with our customers. 

     It is an obligation that we have to provide reliable 

service.  

     DR. HIGGIN:  Is it also a driver for your capital plan?  

     MR. WALKER:  It is one of the drivers, yes.  

     DR. HIGGIN:  Okay.  Thank you.  Now, one of the problems that exists with reliability definitions and so on is the fact that there are a variety of definitions and -- for example, if you take one of the parameters, it could be affected by how they characterize the customer number. 

     Is it beginning of the year, end of year, average?  That's one example.  

     You also could have a number of other factors.  Loss of system, LOS.  You could have major event days. You can have scheduled outages. 

     And the data, depending on how those things -- how they have been treated, can be different and the use of those data then can be suspect; am I correct?  

     MR. WALKER:  I'm sorry, the use of the data can be suspect?  

     DR. HIGGIN:  If you don't use the same set of parameter assumptions about what SAIDI is and SAIFI is.  

     MR. WALKER:  I would characterize that differently.  As long as you know which assumptions you're using and you're comparing using the same assumptions, then I think they're equivalent.  

     DR. HIGGIN:  Okay.  What does the OEB require for those parameters and definitions for reliability indices?  Are they the CEA protocols?  Or does the OEB have its own protocols?  


[Witness panel confers]

     MR. WALKER:  I personally don't know the answer to that.  It's possible that one of my colleagues on panel 1 would be able to answer that.  

     DR. HIGGIN:  We can either put it over or you can take an undertaking.  And I can define what that undertaking is, and that is how the OEB sets its protocols for reporting of the reliability indicators and whether or not you include customer numbers -- beginning or end of year or average -- whether it includes loss of supply, major event days, and scheduled outages.  

     MR. SMITH:  Why don't we do it this way?  In the oral hearing witness panel list that the parties all have, this issue of reliability is captured under Exhibit 2A, tab 10, which is a responsibility for panel 1.  It is Mr. Paradis who has responsibility for this. 

     We will make him aware of this question on the transcript and be sure that he is ready to answer it when he returns either tomorrow or on Monday.  

     MS. LONG:  Dr. Higgin, does that suffice?  

     DR. HIGGIN:  That's fine. 

     MS. LONG:  With respect to protocol, I'm assuming you mean how is it calculated?  

     DR. HIGGIN:  Yes.  How, and does it include adjustments for those particular factors which affect the ratio that is reported?  And then, if you compare that between one set of data and another, there can be big differences. 

     MS. LONG:  Okay.  Thank you.  

     DR. HIGGIN:  Thank you.


So the question then goes to PSE:  What protocol did you use with respect to the definitions of SAIDI and SAIFI in your analysis?  

     MR. FENRICK:  We gathered reliability data across United States and different jurisdictions and those types of things, gathering the information where all outages are included.  So there were not -- you know, major event days and those types of things were not excluded. 

     So it is basically the all-inclusive outage definition was used in the United States, as well as it is our understanding that the OEB collects data on an all-outage basis as well.  And so that's how we went about gathering that data, was not gathering the excluded data but the all-outage data for the United States and for Ontario.  

     DR. HIGGIN:  Okay.  Thank you.  We will come back to that issue.  

     So now can I go back to your reliability model?  And particularly let's pick it up in the description.

In your report on page 42 -- okay.  Let's wait for that to come up.  

     Okay.  And so this describes some of the parameters, if not in econometric modelling terms, but at least in layman's terms this includes the parameters.  

     So the question is:  Using these parameters, are there two different SAIDI and SAIFI formulations that you've used or not?  That's the first question.  

     MR. FENRICK:  Yes.  We did one model with the combined Ontario/United States data sets and then another model with the US-only data set, and with Toronto Hydro included. 

     The different models are because, again, as we mentioned, we wanted variables that are correctly signed and statistically significant, and then that causes us to have slightly different equations in the two models.  

     DR. HIGGIN:  So it's not only the data sets that are different, but the models were different; is that correct?

So the combined model, for example, is different from the US model?

     MR. FENRICK:  Yes, that's correct. 

     DR. HIGGIN:  In formulation parameter terms; correct?  

     MR. FENRICK:  Yes, absolutely, because of the -- you know, we wanted to abide by the kind of best practice standards of benchmarking and only include those parameters that are correctly signed and statistically significant. 

     DR. HIGGIN:  Okay.  If we go back to table 10 in your report -- I just can't remember what page that is, but table 10, yes.  

     Anyway, here we are.  This shows the data sets that were used in your analysis; correct?  

     MR. FENRICK:  Yes.  It's a summary of the data set being used.  It shows the utilities and the average over the last three years.  But yes, the full data set has individual observations for each year.  It's a summary of the data set.  

     DR. HIGGIN:  So on the left of this table we see the US group or peer group, and on the right we see the Ontario group; is that correct?  

     MR. FENRICK:  Yes, that's correct.  The Ontario distributor is being shaded in that greenish colour. 

     DR. HIGGIN:  Whatever.  So the question is this:  Why did you not use the CEA data set for Canada, which has been available and has six years of data, including Toronto and including, as we've just noted, urban utilities?  Why was that set not included in your analysis?  Wouldn't that be a relevant set of data to use?  

     MR. SMITH:  I don't -- well, obviously the CEA could speak for itself, and maybe this should be drawn, but the CEA spent a lot of time at the motion talking about how its data set was proprietary. 

     DR. HIGGIN:  But Toronto is a member of that and has the right to use that data; correct?  Am I wrong?  

     MS. LONG:  Can the witnesses answer that?  

     MR. WALKER:  To be honest, I'm not sure, but I would suspect that we would have to get their approval before we would use that data. 

     DR. HIGGIN:  I would expect you would, but you decided not to do that in this case, even though relative to three years of data, there were six years of data on Canadian urban utilities available?  That's the question.

Anyway, I will leave it there. 

     I believe that is a major, major flaw that should have been corrected in the analysis.  

     MR. FENRICK:  Maybe if I could address that, if you look at this list, where we included all of the Ontario distributors and a good number of the US distributors, we have a very large data set here comprised of both Canadian utilities -- as far as the Ontario -- and then also the United States utilities. 

     So given that large data set -- a number of observations, you know, more than sufficient to make reliability inferences from -- we felt that was more than sufficient. 

     Furthermore, we did want a publicly available data set so folks like PEG could go and verify the data and adjust that and those types of things to the extent that they could. 

     This data set allowed us to have a publicly available data set, and I'm not even -- I was probably under the assumption that CAE was not going to provide that information to PSE either. 

     But absent that, we have a very solid, strong data set with a lot of observations that's more than sufficient to make these inferences. 

     DR. HIGGIN:  All right.  I just want --

     MS. LONG:  Mr. Fenrick, sorry, is it your expert opinion that five years in this case is not better than three years of information?  

     MR. FENRICK:  So in the data set itself we have more observations than just three years.  A number of the observations, I think in Ontario's, go back to 2005, where the Board collected data, I think beginning in 2005, that we gathered. 

     So when developing the models, we're using data going all the way back to 2005, and I believe in the US data set back to 2002.  

This is just a summary of the last three years, so people can get a feel for what the values look like by utility.  But in the data set itself, and when 

we estimate the models, we're using more data -- we are going back further than the three years. 

     MS. LONG:  So you disagree with Dr. Higgin then when he says the five-year information that the CEA benchmarking contains and -- perhaps you haven't seen it, so you can't comment on it -- might not actually be more useful?  

     MR. FENRICK:  Right.  As far as the five-year period, that really wouldn't add -- add much to the data set, given the large number of observations.

You know, it is true that the larger the data set, the better; I would never refuse data to do a benchmarking study.  But given that that wasn't available and 

was confidential, we wanted to use a publicly available source. 

     I would -- I feel that our evaluation here is more than sufficient, as far as making valid inferences from.  

     MS. LONG:  Okay.  Thank you.  I wanted to better understand your position on that.  

     DR. HIGGIN:  Thank you.  I will move on, then.  

     So could we now look at some of the projections?  My focus here is not on the historic model, but on the projections.  Okay?  

     And so what I would like to do as a segue into that is to deal with your conclusions, starting with the conclusion that is shown in the report on pages 63 and 64, and then we will go back.  

     This is a conclusion under question 3 -- if you could just pull that up, page 63-64 -- and the conclusion speaks for itself.  And so the question is the last two sentences:   

"Based on these projections, all the projections should result in a utility more aligned with its 

externally-derived benchmark values, and the projected spending on reliability levels are, in PSE's opinion, reasonable from a benchmarking perspective."  

     So you're saying the capital plan in the CIR is appropriate, and will achieve this objective; is that your conclusion?  

     MR. FENRICK:  Based on Toronto Hydro's projections, which they provided to PSE as far as reliability goes, we find that the SAIFI value will converge towards the benchmarks and become more aligned with the benchmark evaluation that we performed during the custom IR period.  

     Combining that with our total cost results, where the company remains in that plus or minus 10 percent normal range, combining those two, the capital spending plan maintains a normal total cost performance level for the utility, and addresses the fairly poor historical SAIFI performance of the company and better aligns that, moves that toward what our models would expect the SAIFI to be, given the utility's conditions that they're faced 

with.  

     DR. HIGGIN:  Just a question to clarify.  The model is -- let's go and perhaps look at the table on page -- table 15, which is page 50.  

     Okay.  So this shows the projection regime.  That is, 2014, which I believe is still an estimate.  It is not actual; correct?  It should really be in the green?  

     MR. FENRICK:  Yes.  We coloured the green for the custom IR period.  But you're exactly right; the 2014 value was estimated by Toronto Hydro.  The actual values were 2013 and prior to that.  

     DR. HIGGIN:  So just to clarify, what you said is -- and we will come to this -- the column that says "THESL value," those are the numbers that THESL gave you as its projections for SAIDI and SAIFI; is that correct?  

     MR. FENRICK:  Yes, and the 2014 and beyond were the 

projections that Toronto Hydro -- we requested them, and 

Toronto Hydro provided that data to us as their projections. 

     DR. HIGGIN:  And how were they used, if at all, in the 

econometric benchmark data on SAIDI and SAIFI in columns 2 and 5?  

     MR. FENRICK:  So they're being used as a comparison.  We used the historical model, with all of those observations that we discussed in the sample, to determine, given those business conditions:  How do we relate those to reliability?  

     Using that estimated model, we then project what the 

benchmarks would be moving forward for Toronto Hydro. 

     And the projected values that the company gave us are being used to compare that benchmark to the projected, to see how they would compare relative to the PSE benchmarks. 

     DR. HIGGIN:  So you used your data set and projected that forward for Toronto Hydro, and then compared to the actual values that THESL gave you.  

Is my understanding of that process and the modelling correct?  

MR. FENRICK:  Yes, that's correct.  We used 

the model which was based on the historical data, and projecting -- looking at the business conditions and looking at what they are forecasted to be in the future, we then projected the benchmarks and then compared that, yes. 

     DR. HIGGIN:  All right.  So let's have a -- the question then is:  If you look at the benchmarking numbers and then you look at the difference for SAIDI between THESL's numbers -- leaving aside 2013, where all hell broke loose -- what I see is you've got an average difference there in the past of around 50 percent, by my math.  

You can do the math if you want.  It is a 50 percent 

Difference.  Okay?  

     Looking forward, you have 100 percent difference between what THESL is telling you and what the model says.  Am I wrong?  

     MR. FENRICK:  No, you're not wrong.  You're correct.  The projected SAIDI performance of Toronto Hydro, given their projections of what would result given their capital plan, are that they would beat their benchmarks by a large margin, by, you know, about -- by 2019, you know, 107 percent.  

     DR. HIGGIN:  Or is the model not able to predict that 

accurately going forward?  That's another question.  Which is it?  

     MR. FENRICK:  You're asking if the model is not able to predict the benchmarks moving forward?  

     DR. HIGGIN:  Yes.  

     MR. FENRICK:  I would say that if you look at the -- you know, the historical values, you know, they're aligned with the projections.  They're basically not being moved too much in the projected future.  

Is it true that the industry, as time passes, may become better at reliability, or worse at reliability?  You know, it is certainly possible by 2018-2019, the industry itself would be producing different benchmarks.  

But this is what we have to go on right now.  We have the historical performance.  We don't –- unfortunately, 

we don't know the future performance of the industry. 

     And so given the information that we have now, you know, this is our best guess of what the benchmarks would be. 

     I would also say historically, you know, reliability within the United States really hasn't changed too much.  You know, perhaps with new smart grid technology, that could potentially change in the future. 

     However, given the historical findings, if 

Toronto Hydro hits that 61.2 that we see in that SAIDI column by 2019, I would be willing to wager that there is a pretty good chance that is going to beat the benchmarks. 

     So we're using -- 

     DR. HIGGIN:  If it's there, we'll buy each other a drink.  Okay?  

     MR. FENRICK:  Yeah. 

     [Laughter] 

     DR. HIGGIN:  Anyway, so the difference -- why the big 

difference is because of the drop in SAIDI, the projections that THESL has given you going forward.  I am going to come to those in a minute.  And that's why we see this big difference between the model output and THESL's numbers; is that correct?

     MR. FENRICK:  Yes, that's correct.  If you look at 2010 through 2012, you know, the company is right around 85 to 100 minutes of SAIDI.  With the capital spending program, the company's projecting, you know, in the 60s, somewhere in the 60s. 

     So a lot of the big change from being below benchmarks to being below benchmarks even further is due to -- primarily due to that improvement, projected by the company.

DR. HIGGIN:  And then if we look at the SAIFI numbers here and the other columns in column 6 and the difference, you will see, you would agree, the differences are not as marked between the econometric model benchmark and THESL's numbers; correct?

However, the SAIFI numbers on the benchmark continue to be relatively stable, but in THESL's case they go down; correct?  

     MR. FENRICK:  Are you saying that Toronto Hydro's SAIFI values go down?  

     DR. HIGGIN:  Yes.  Improve.  

     MR. FENRICK:  Yes, that's accurate.  

     DR. HIGGIN:  Right, okay.  So what I am going to do now is to ask THESL a bit about those numbers and how they get them.  Okay?  So maybe this is going to be the next panel, but we will start with the questions. 

     So could you turn up 2A EP 8, part (c)?  That is a projection by THESL of its three parameters.  We've only been talking about SAIDI and SAIFI, but as we all know, CAIDI's directly related to the other.  So we will just talk about that. 

     So these are the projections.  Now -- 

     MR. SMITH:  Sorry.  Members of the Panel, I don't object to the question, in that it is good to get it on the record.  But this interrogatory is amongst those that is listed specifically for panel 1.  So my friend should continue.  We should hear the question, but I suspect we're going to be hearing from Mr. Paradis, in terms of the answer.  

     DR. HIGGIN:  Right.  So I just want to -- people here to understand.  Let's pick a number.  And which one should we start with?  Start with the number of SAIDI.  Sorry, we will start with the SAIFI number of 1.16 in the column.  Do you see that number?  

     The question relates to this:  If I do the math, I come up with -- given a customer count of 749,679 customers in 2015.  That is the number that THESL has provided in evidence.  You want to know the evidence, but it's -- I can give you the evidence reference for the customer number. 

     I thought you would know this one, but anyway it's customer number.  It will take me a minute to find the number.  It's in table 1 of Exhibit 3, tab 1, schedule 1, and table 1 under 2015.  That is where that source of number came from.  Okay?  

     So then if I do the math, I don't come up with the 73.8 minutes in the table that we just looked at for THESL's projection.  In fact, I come up with 99.3 minutes.  What am I doing wrong?  Or is there something wrong with the projection that is in the table, your table, table 15?  And where did you get that from?  And how does that compare in your table 15 with this number?  That is the question.  

     MS. LONG:  Dr. Higgin, I must have missed something.  Did you take them through how you actually did the math?  You gave them the customer number.  You gave them the end result.  But --

     DR. HIGGIN:  Do you wish me -- okay.

     MS. LONG:  I don't want them doing math on the stand, so if you want to do the math, then put it to them, and then you can they can tell you whether or not they understand how you got to that number or how that number differs. 

     DR. HIGGIN:  So you take the 1.16 ratio.  You multiply that by the customer account of 749,679, and then you divide by the number of hours in the year, and you get the count of minutes.  Okay?  Of the duration of interruptions.  That's all I'm asking, is -- they can take an undertaking to reconcile the number if you wish.  I'm fine with that.  

     MS. LONG:  I think what Mr. Smith said is that it is a question for Mr. Paradis. 

     DR. HIGGIN:  Well, I disagree, because the comparison is also with the table and the data that PSE have used.  That is, table -- the table 15 and the number that is in that table.  That's the issue that I am trying to drive at, Madam Chair.  

     MR. SMITH:  Right.  But of course, as we know from the evidence, those numbers came from Toronto Hydro, the projections, and Mr. Paradis is the person who is able to speak to the derivation of them. 

     So I think my friend's question is:  I've done the SAIFI calculation in a particular way.  I reach a particular result.  Am I correct?  And if I'm not correct, how did you arrive at the results that you arrived at as reflected in this interrogatory?

And we can make Mr. Paradis aware of that and ready to answer that question. 

     DR. HIGGIN:  And the second question is:  How does that reconcile with the number for 2015 in table 15 of PSE's evidence?  

     MR. SMITH:  Sorry, how does what reconcile, which two numbers --

     MS. LONG:  Your number?  How does your number reconcile?  

     DR. HIGGIN:  The 1.16 number, which is in the evidence I just -- 

     MS. LONG:  Are you asking Mr. Fenrick what number he used?  

     DR. HIGGIN:  I am asking him whether that corresponds to his number of 73.8 minutes.  


[Witness panel confers]

     MR. FENRICK:  As far as where we got the numbers, that was directly from Toronto Hydro.  So PSE won't be able to answer your question.  These numbers came directly from the company.  So that is how we inserted them into the table.  

     DR. HIGGIN:  Okay.  So then the undertaking will be as counsel has said, that we will ask the question to panel 1, and if they can't answer we will have to ask for an undertaking to reconcile.  

     MR. SMITH:  I think that is fair.  

     MS. LONG:  Fine.  

     MS. HELT:  Just to clarify, Dr. Higgin, is this going to be an undertaking, or is it simply --


DR. HIGGIN:  No.


MS. HELT:  -- to make Toronto Hydro aware of the question for panel 1? 

     DR. HIGGIN:  I would prefer an undertaking, because my colleague will be asking the questions next week.  

     MR. SMITH:  Well, I would prefer not to be giving undertakings where we've indicated the panel responsible and the witness will be coming up, and they will either be up tomorrow or Monday.  And he will have ample opportunity to look at the transcript, and he should be ready to answer the question right on the stand.  

     DR. HIGGIN:  Okay.  

     MS. LONG:  I'm afraid I don't understand, Mr. Smith.  If we do an undertaking now, your witness can simply speak to it.  I just don't want to lose track.  I am building up a list here of what other panels are going to be speaking to.  So for efficiency's sake I would like to mark it as an undertaking, and your witness can deal with it when -- 

     MR. SMITH:  That's fine.  If he can answer it orally.  There is just some mechanics involved with writing it up and filing it, and -- that just take people's time. 

     MS. LONG:  I understand.  We will mark it as an undertaking, and I will have him speak to it and he can give the answer orally.  But at least we will have marked it as an undertaking and I won't lose track of what other people are speaking to in different panels. 

     MR. SMITH:  Perfect.

     DR. HIGGIN:  Thank you, Madam Chair. 


Could we --

     MS. LONG:  So perhaps you could reiterate what the undertaking will be for the witness. 

     DR. HIGGIN:  The undertaking is to describe how the values that -- I am going to come again to a couple ones -- the exhibit, which was EP 8, that's 2A EP 8, and particularly the values for SAIDI for 2015 and beyond shown there were derived and how they reconcile with the values shown in PSE table 15.  

     MS. HELT:  All right.  That will be Undertaking J2.2. 

UNDERTAKING NO. J2.2:  TO DESCRIBE HOW THE VALUES IN 2A EP 8, PARTICULARLY SAIDI VALUES FOR 2015 AND BEYOND, WERE DERIVED AND HOW THEY RECONCILE WITH THE VALUES SHOWN IN PSE TABLE 15.

     DR. HIGGIN:  Now, Madam Chair, just the last bit.  I know we are close to lunch.  You will be glad to hear I'm going to finish. 

     This is the biggest problem that I've been having with the evidence before us, and leaving up, if we could, EP-8, I would like to -- okay.  EP 8, part (c).  Right.  

     I look at these data and I've been through the evidence and I've come up with three different projections for SAIDI and SAIFI that is in the evidence.  

     I will now outline where they are, and then I will ask 

for a reconciliation and an explanation of those to be provided.  

     So the first reference is Exhibit 2B, section 00 corrected.  That is the Distribution System Plan.  In there, there is a reconciliation -- a projection of the -- and it is figure 4 that I am referring to in there, figure 3 and figure 4.  One is SAIDI, one is SAIFI.  There they are.  So there's some numbers.  

We don't need to go -- just to say those numbers are projections for the period, the CIR plan. 

     The next reference that I have is EP 52 and the undertaking from that.  So we need to go down and look for the undertaking and the response -- there they are.  There are the projections.  

     So that is page 3 of that reference; that is J1.2, EP 52, page 3.  And then of course the other and last one is the one we were looking at, which is 2A EP-8, part (c).  

     Just take it that these numbers do not match; they are 

different. 

     And so, Madam Chair, I think we all need to know what are the correct set of numbers for the projections on SAIFI/SAIDI for the CIR period, because apparently they are going to be underpinning, in part, the capital plan.  We're expecting to see improvements as a result.  

     So it would be good to start with the right set of numbers that we can all base our assessment going forward.  So that's the request.  

So my undertaking request is to reconcile the projections in those three exhibits and, importantly, to provide a set of projections that THESL will stand by as its, quote, "official" projections.

     MR. SMITH:  I am going to take my friend's comment that there are differences at face value.  I tried to follow along as we moved very quickly.  There are a number of them that I can observe are the same.  

     But if my -- just taking it at face value, why don't we just do what he has asked us to do.  We will line them up.  We will look at them, and if there are differences we will explain why there are differences, so that we're all on the same page.  I don't have a problem with that.  

     MS. LONG:  That's fine.  

     DR. HIGGIN:  Thank you, Madam Chair.  I would like an 

undertaking for that. 

     MS. HELT:  Thank you.  

     MS. LONG:  Are you proposing, Mr. Smith, that you will deal with it by way of written undertaking?  Or are you going to have your witness speak to it when we have the reliability panel up?  

I think for the Panel it is easier for us to hear the evidence and to hear why there are the differences.  So if Dr. Higgin does not object to that, I think we should 

probably mark it as an undertaking, but we will deal with it orally as we have done with the previous undertaking.  

     MR. SMITH:  Yes.  That's what I was proposing. 

     MS. LONG:  To the extent you, then, Dr. Higgin, need something in writing what the projection is on a go-forward basis, we can deal with it at that point. 

     DR. HIGGIN:  The only issue, Madam Chair, is that if it is not provided in advance, it may be difficult for my colleague to ask his questions and clarifying. 

     So I would request, if there is an undertaking, it could be put into writing, so that we would all know where we start from when the panel is up.  That would be appreciated.  

     MS. LONG:  Well, I mean, this is a difficult situation, isn't it, Dr. Higgin?  Because really this is a question that is properly put before a representative from Toronto Hydro when they're there, when they're on the stand. 

     So to have Mr. Smith go away and do all of this work so we can put it before the panel that properly should be speaking to it, I don't know that that is fair.  

     MS. HELT:  All right, then.  So this will be Undertaking J2.3, and I believe -- you did go through it rather quickly, Dr. Higgin, but just to make sure that we have the three references correct, there was J1.2, EP 52, page 3.  

     DR. HIGGIN:  Yes. 

     MS. HELT:  The second reference being 2A EP 8, part (c). 

     DR. HIGGIN:  Right. 

     MS. HELT:  And the third reference I missed.  

     DR. HIGGIN:  Exhibit 2B. 

     MS. HELT:  Exhibit 2B. 

     DR. HIGGIN:  Section 00 corrected, and it is figures 3 and 4 of that exhibit.  

     MS. HELT:  Thank you.  So it is to provide a reconciliation of those three, the projections in those three documents. 

     DR. HIGGIN:  Right.  Thank you.

UNDERTAKING NO. J2.3:  TO RECONCILE PROJECTIONS FROM J1.2, EP 52, PAGE 3, 2A EP 8, PART (c), AND EXHIBIT 2B, FIGURES 3 AND 4.

     DR. HIGGIN:  Madam Chair, those are all of my questions.  Thank you for your patience.  

     MS. LONG:  Thank you.

We are going to break for lunch.  And we're going to take a little bit of a longer break and come back at 2:10, and we're going to sit a bit later today.  Thank you.  

     --- Luncheon recess taken at 12:50 p.m. 

--- Upon resuming at 2:19 p.m.

MS. LONG:  Please be seated.  

     Ms. Girvan, I understand you're next?  

     CROSS-EXAMINATION BY MS. GIRVAN:  

     MS. GIRVAN:  Thank you.  

     Good afternoon, panel.  My name is Julie Girvan and I'm a consultant to the Consumers Council of Canada.  So I have a few questions.  I think I will be under my estimates, and maybe I will score some points. 

     So I have been told just a few minutes ago that something I was going to refer to is not on this panel, but I wondered if we could just bring it up anyway, and then if they want to pass on the questions they can do that.  It is Undertaking J2.22.  It is the technical conference undertaking. 

     This sets out on the next page what are called key performance indicators related to the corporate performance.  I just wondered, because I sort of saw the words "productivity, productivity, productivity" at the bottom three, I just wondered if this panel is prepared to answer some questions about that, those key performance indicators.

MR. SMITH:  I don't know what the questions are, so a bit hard to say.  But this undertaking -- obviously you do your best to put these things together thinking about who would be the appropriate witness. 

     This undertaking is listed under panel 5, so I would have expected the questions to be directed there, but I certainly don't object to my friend asking the questions and seeing where we go. 

     MS. LONG:  Why don't we try? 

     MS. GIRVAN:  Okay.  Sure.

Well, my first question is:  Could we get the 2014 results?  Is that data available?  

     MR. SEAL:  I think that would be a question for panel 5.  I don't know.  

     MS. GIRVAN:  Could you undertake to do it?  Because it might be useful once we have those results to use that, in terms of our questions for panel 5.  If you have the results and if you could report them to us in an undertaking, that would just be helpful.  

     MR. SMITH:  We're exactly where we were with Dr. Higgin before.  I'm sure it can be done, but -- 

     MS. LONG:  This seems a little bit different, Mr. Smith, in that this is not a whole level of analysis that will need to be explained, but I am surprised that these results aren't available yet.

     MR. SMITH:  No, I don't think that is what the witness said. 

     MS. LONG:  Well, I mean that they're not on the record yet.  I'm assuming that they are available and could be easily provided.  Am I incorrect in assuming that?  2014 results?  

     MR. WALKER:  I haven't actually seen the official results yet, so I'm not sure if they've been completed.  

     Some of these relate to financial numbers, and there is a financial close that takes place and that goes well through January, and as far as I know, even into February.  And then there is -- we have to go through the auditors as well.  So they don't typically publish all the KPIs until they're all complete. 

     MS. LONG:  Are you asking for just the last three productivity numbers?  Or are you asking for all the numbers? 

     MS. GIRVAN:  No.  You will see there is more on the next page as well.  And I understand net income, for instance.  That is the financial one that I think that they probably don't have. 

     But I am just saying on a best-efforts basis, to the extent that these have been completed, if we could have that information, then it might be useful for examining panel 5.  

     MR. SMITH:  I've just been told that the final results go through the audit process and go through the board of directors and are not available until March.  So that's what the witness on panel 5 would have said, because she just told me, but...

     So I think the answer is they have not been finalized, but as I say, I'm just finding this out now.  We can take it away and look at it. 

     MS. LONG:  Can you just scroll back up?  Ms. Girvan, are you asking for the last five entries?  Or are you asking for everything on that page?  

     MS. GIRVAN:  Well, I was looking for everything, but I would just like as many as they could provide at this time.

     MS. LONG:  Let's take a look at the enhanced customer engagement, first call resolution attendance, SAIFI, SAIDI.  Are you saying those are not available either?  Those seem to me not to be related to financial results. 

     MR. SMITH:  I do not know the answer, and I would have to take it away and find out. 

     MS. LONG:  So can you take that away and find out? 

     MR. SMITH:  Yes.  

     MS. LONG:  Thank you.  

     MS. HELT:  So then we will note that as an undertaking, then, Undertaking J2.4, to provide on a best-effort basis the 2014 results for the categories listed on the table that was provided in response to technical conference Undertaking J2.22. 

UNDERTAKING NO. J2.4:  TO REVIEW WHICH OF THE KEY PERFORMANCE INDICATORS FOR 2014 HAVE BEEN FINALIZED AND IN RESPECT OF THOSE TO PRODUCE THE FINAL NUMBER, AND TO PROVIDE 2015 NUMBERS IF AVAILABLE.  

     MS. GIRVAN:  Could I add one more --


MR. SMITH:  Sorry, maybe I could just phrase it a bit differently, because I believe the undertaking would be more appropriately cast as:  To review which of the key performance indicators for 2014 have been finalized and, in respect of those, to produce the final number.  

     MS. GIRVAN:  And just as an addition to that, and maybe we do have to wait 'til panel 5, but I would like to see the 2015 targets.  I am not sure that that is on the record.  

     MR. SMITH:  Why don't we advise by way of undertakings whether -- sorry, undertaking whether we have those, and if we do, then yes, we will provide them. 

     MS. LONG:  Thank you. 

     MS. HELT:  So that will all be part of Undertaking J2.4. 

     MS. GIRVAN:  Thank you very much.


Okay.  If you could turn, please, to Exhibit 1B, tab 2, schedule 5, page 7, so there's -- I am just looking at what line it is.  Page 7.  So if you look at the first full paragraph -- and I'm just going to read that -- it -- not all of it, but based on -- what it says is:

"Based on its econometric benchmarking analysis, the PSE report concludes that Toronto's past costs, as well as its 2015/'19 cost levels proposed in this application, are lower than the reasonable levels of spending."

     And further down it also says that:

"Toronto Hydro submits these findings support the sufficiency of Toronto's past cost performance and confirm the efficiency and reasonableness of the forecasted costs underlying the application.  The utility attributes the results of this assessment at least in part to the benefits of productivity described in the Past Productivity Review."

     Can you explain to me how your conclusions regarding Toronto Hydro's past cost performance confirms the efficiency and reasonableness of the forecasted costs underlying the application?  

     MR. SEAL:  What we are saying there is in combination with the past productivity that we provided as appendix A, some information on the past productivity, some information on the productivity initiatives and programs that are part of the DSP program, are all generally supportive of the results of the PSE benchmarking study.  That's what we are really saying in that paragraph.  

     MS. GIRVAN:  Okay.  Because it looks to me what you're really saying is that your past cost performance confirms the efficiency of the forecasted costs.  You're saying your forecast is going to be -- it's efficient because of what you have done in the past, and that is not clear to me, the sort of connect between those two. 

     MR. SEAL:  Maybe the paragraph wasn't written as well as it could have been, but again, this part of the evidence is dealing with the past productivity, the future productivity, and comparing it with the benchmark results of the PSE study.  

     MS. GIRVAN:  Okay.  Now, could you please turn to Exhibit 1B, tab 2, schedule 2, page 6?  

     So what this says is -- and I will just quote down -- I am just looking at the reference -- that:

"The CIR framework and its supporting elements provide sufficient incentives for the utility to seek further productivity and efficiency improvements over the CIR time frame and to share those benefits with customers."  

     And what I am looking for here is just an explanation as to how your framework incents the utility to seek further productivity, especially with respect to the capital component of your plan.


How does the structure -- let me just maybe put it another way.  Given that your capital is in large measure capital pass-through, how does that incent further productivity?  

     MR. SEAL:  So with reference, again, to this particular part of the exhibit, it was talking about the application in total.  

     MS. GIRVAN:  Mm-hmm. 

     MR. SEAL:  So we've talked about the different components in the productivity section, about the components of the custom PCI framework that include a productivity stretch factor as part of the custom PCI framework.  And we have talked about the metrics that we plan to propose, or that we will be reporting on through the five-year plan.

And those are the key elements of the productivity that will provide these incentives and measures of 

the productivity over the forecast period. 

     MS. GIRVAN:  Okay.  You talked about metrics.  What metrics are you specifically referring to?

     MR. SEAL:  So these are the DSP metrics that we have 

proposed as part of the plan. 

     MS. GIRVAN:  But you really haven't developed those fully yet? 

     MR. SEAL:  Some of them are not developed.  Some of them are. 

     MS. GIRVAN:  Like the SAIDI and SAIFI? 

     MR. SEAL:  Exactly. 

     MS. GIRVAN:  So I guess what I'm really looking at is:  Again, with respect to the way that you have framed your plan, with the way that capital is dealt with, where are you really going to be incented to be productive?  

     For example, you have a particular project that you have projected to be $100 million.  What is in your plan, and you're going to get funded for that, to be productive in terms of how you execute that?  

     MR. SEAL:  Well, again, the overall proposal has a PCI index; rates will increase by a PCI index that includes a 

productivity component. 

     Within that framework, the company will have to work and be as productive as it can be. 

     The concept of an incentive framework is exactly that.  It incents the company to be productive over that period.  

     MS. GIRVAN:  But how specifically does it incent you to be productive with respect to the execution of your capital plan?  

     MR. SEAL:  Well, again, I point back to the custom PCI 

index.  So the company is proposing to set rates based on a 

custom PCI index, and deliver its capital program within that index, within that proposed index of rates.  

     MS. GIRVAN:  But the index is really specifically relevant to the O&M component of your plan.  

     MR. SEAL:  No, I wouldn't agree with that.  The index has all components in it.  

     MS. GIRVAN:  But you have a capital forecast each year, which isn't an I-minus-X type approach.  

     MR. SEAL:  There is a capital component to our price gap index, agreed.  

     MS. GIRVAN:  Okay.  And I'm just looking, in terms of that particular format, at how you're going to be incented to execute those plans cost-effectively.  

     [Witness panel confers]  

     MR. SEAL:  Ms. Girvan, my colleague has reminded me with respect to the capital side in day one of the capital panel, there was some discussion on the capital side and the fact that embedded in our capital forecast is a significant proportion of costs that are driven by market pricing and competitive bid contracts.  

     So there is productivity embedded in that part of the 

capital project as well.  

     There are also a number of initiatives that we highlight in the productivity evidence, that talk to some of the components that would impact capital -- fleet management, our occupational -- sorry, operating centre consolidation plan -- that are also part of the productivity that will be delivered.  

     MS. GIRVAN:  Okay.  So maybe I can just jump quickly -- maybe we will get to those particular projects in a second, those initiatives in a second.  

     You also said that you're going to share the benefits of any productivity with your customers.  And I guess I would like to get a better understanding of how that is going to work. 

     I will give you an example.  So if the Board approves your capital expenditures as forecast for 2015, the revenue 

requirement is set on that basis.  

     If you're able to do a job for less, a particular component of that for less, the customers are still paying the revenue requirement that reflects the higher cost. 

     So in that context, how does that lead to a sharing of 

benefits with customers?  

     [Witness panel confers] 

     MR. SEAL:  Sorry, can you ask the question again?  

     MS. GIRVAN:  Sure.  I guess what I've sort of premised on the fact that I'm having trouble understanding how you're going to be, as you stated in your evidence, sharing the benefits of productivity throughout the term of the plan with your customers.  

     For example, if the Board approves your capital expenditures for 2015 as you forecast -- and let's just take one component of that -- and you're able to do that job in a really productive way and save money, how are the customers going to benefit, because they're still paying the rates that reflect that higher cost?

     MR. SEAL:  But the embedded cost in 2015 is reflecting our productivity of the work in 2015.  So there is a benefit that is shared right away. 

     MS. GIRVAN:  No, but let's say beyond some benefit that you have embedded in the plan, you've initiated something that makes your particular task more cost-effective.  

Customers aren't going to benefit from that until the end of the plan, potentially.  They would have paid the higher rates reflecting the higher cost of doing that particular task.  

I'm just trying to sort of better understand your comment that you're going to be sharing the benefits with customers of productivity.  That's all.  

     MR. SEAL:  Well, the sharing is very clear with respect to, again, the PCI index, in that we have an I-minus-X formula.  We include a stretch factor as part of that price gap index. 

     So there is a clear benefit that is shared right upfront with customers over the term of the plan.  

     MS. GIRVAN:  Okay.  I understand.  I think we will likely agree to disagree.  

     Okay.  If you could turn then to Exhibit 1B, tab 2, schedule 5, page 18, this is where you have set out what you've described as projects with "big savings" potential.  

     And you refer there to the enterprise resource planning upgrade, the operating centres consolidation program, the fleet management initiative, and the standard asset assemblies framework. 

     Can you help me understand?  With respect to these 

initiatives, have you quantified the savings associated with these particular projects that you've termed "big savings," and have you quantified those and embedded them in your revenue requirements for the proposed period?  

     MR. SEAL:  I can speak to it at a high level.  So our -- the costs of these particular programs are included as part of the -- to the extent that there's the capital, are included as part of the capital factor. 

     So they would be included as part of that, yes.  

     MS. GIRVAN:  Okay.  So you've got this energy resource 

planning initiative that you're saying you're expecting to result in big savings.  

     Can you quantify those savings for me?  

     MR. SEAL:  Again, at a high level.  I can't provide details, but at a high level, the particular program, the enterprise resource plan program, the cost of that program and the program itself, the benefits are reflected in the various other costs and the other areas of the company that are included as part of the capital.  

     So those savings are reflected in other parts of the 

evidence, yes.  

     MS. GIRVAN:  Can you point me to those?  

     MR. SEAL:  Again, I can't point you directly to where those would be, and I'm not sure they're directly embedded in there – sorry, identifiably directly embedded.  But they are embedded as part of the forecast of our other costs. 

     MS. GIRVAN:  So you've got the costs associated with the ERP, for example, but you haven't told us specifically what the cost savings are going to be related to that.  

Is that what you're saying:  You just have to sort of trust us?  

MR. SEAL:  It is possible, as part of the evidence in these particular programs, that there are some details on the savings that are associated with it, but I don't know those particular details.

MS. GIRVAN:  Okay.  Could you undertake to provide those?  

MR. SEAL:  I believe that most of these programs are part of one of the other panels, and perhaps questions about the details would be better directed to those panels.  

MS. GIRVAN:  Okay.  Is that the general plant panel?  

MR. SMITH:  It is.  The ERP project, for example, is -- I believe falls under Mr. Floriano's responsibility.  So I must say I have lost track whether that is panel 3 or 4, but it is the general plant panel.  So he will be in a position to speak to those details.

MS. LONG:  And he will be ready, knowing that these questions are coming toward him?  

MS. GIRVAN:  Okay.  Are --

MR. SMITH:  We are telling people -- 

MS. LONG:  To be ready. 

MR. SMITH:  We are live-tweeting it.

[Laughter] 

MS. GIRVAN:  Because we hate the answer:  Well, you should have asked that from panel 3 or panel whatever. 

Are those other three initiatives part of that panel as well?  

MR. SMITH:  They are.  

MS. GIRVAN:  Thank you.  

MR. SMITH:  Next week.  

MS. GIRVAN:  Okay.  If you could please turn to Exhibit 2B, section A, pages 11 -- page 11 -- sorry, page 12.  So what we have here, if you could -- I can't read it.  Again, we have a number of cost-saving factors.  And it says at the top:

"The following table lists the major cost-saving factors with brief explanations as to how programs are achieving a more efficient process within Toronto Hydro and reducing costs."

Are you able to quantify these cost savings for each of these items?  

MR. SEAL:  Yes.  I think that would be a question for the panel dealing with this particular program.  

MS. GIRVAN:  All of these cost-saving factors?  

MR. SEAL:  I would not have that level of detail.  

MS. GIRVAN:  Okay.  So this, again, is the general plant panel?  

MR. SMITH:  It's actually the distribution capital and system maintenance panel, I believe.  

MS. GIRVAN:  Okay.  

MR. SMITH:  If I've -- we're in the DSP, aren't we?  Yes, okay. 

MS. GIRVAN:  So this is just a final area, and it goes to productivity again.

As a customer, you know, I think your customers are going to see significant rate increases over the term of the plan.  What I will be looking for is:  Can you explain, with respect specifically to productivity, how you intend to report to the Board and intervenors on productivity savings that you are achieving during the term of the plan?  

MR. SEAL:  So I will point you, again, to the metrics -- some of the metrics that we do plan on reporting over the term of the plan.  

So the ones that get most to the question you're asking about are cost-efficiency effectiveness of the plan metrics.  There are five of those metrics that we plan on reporting on.

One is the DSP implementation progress.  So that will provide information on the progress of the plan as we have proposed or as we have been approved. 

MS. GIRVAN:  Okay.  Just to stop you there, I think it is my understanding that that's dollars, right?  So for example, if in 2015 you're proposing to spend 531 in capital, that metric will say:  Well, yes, I'm close to 531 or not, right?  At that level?  

MR. SEAL:  That's my understanding as well.  And I think that that is informative information about our plan and -- 

MS. GIRVAN:  But it's not telling me, for example, that in a particular area I achieved -- I projected five projects and I actually did those five projects for less money, or I projected I was going to do five projects and I did seven, or I did three.  So we're not going to have that level of detail?

It's just my understanding of that metric is it is just dollars versus -- what you spent versus what you were approved.  

MR. SEAL:  Again, you are correct.  But again, I believe it will be informative to the Board and intervenors as to where we are with respect to the plan and will be useful information. 

But let me go on, because there are four other metrics that we are going to be reporting on.  

So the second one is planning efficiency.  So that's talking about the engineering design and support costs and tracking those costs through time, supply chain efficiency, material handling costs, again showing how -- tracking these material costs through time and over the plan.

Internal versus contractor costs, again, a measure of costs and cost efficiencies over time, and our standard asset labour assembly input.  

MS. GIRVAN:  But you haven't developed targets for those?  

MR. SEAL:  I don't believe so.  

MS. GIRVAN:  And when do you intend to do that?  

MR. SEAL:  Our plan is to report these on an ongoing basis through the term of the plan, but there is no -- there is no intent to create targets for these, and it's not required by the RRFE.  

MS. GIRVAN:  Okay.  The RRFE says that the Board expects utilities to report on actual costs versus approved costs.  And I was wondering at what level you think that is appropriate.  I think what you're saying is your DSP metric is just at total dollars?  

MR. WALKER:  That metric is at total dollars, but what it gives you is a perspective on how much work we're completing in the course of the five years. 

MS. GIRVAN:  So how does it do that?  

MR. WALKER:  Because it shows the progress of the spend that we're achieving in our programs.  

MS. GIRVAN:  But you could be doing less work for the same amount of money.  How would you be able to determine that?  

[Witness panel confers]

MR. WALKER:  I think the key is when you look at the progress of the work that we're achieving and then you look at the other measures, where we're talking about the ways that we are achieving productivity, we are reducing our support costs, our on costs and so on, that is an indication that we are becoming more productive as we do our work. 

We have other initiatives we're doing where we're monitoring the amount of time that our crews spend in the shop before they get out to the job.  We're looking at the wrench time in the field to determine how much time they're on the wrench.

And we do have the asset assembly metric.  It is true it's in development, but it is the metric by which we will be able to determine in the future how well we're executing on our work.  

MS. GIRVAN:  But you would agree with me the fact that you spent $500 million versus what was approved really isn't all that meaningful.  It is simply saying what you spent.  It is not saying how you spent it.  

MR. WALKER:  The attainment of the work that we achieve is how we demonstrate that we're completing our work.  

MS. GIRVAN:  And how are you going to report on that?  

[Witness panel confers]

MR. WALKER:  No, we don't have anything that we're tabling that specifically demonstrates that. 

MS. GIRVAN:  So if I look at the capital projects table that I know, Mr. Walker, you are familiar with, that we referred to the other day, which is Exhibit 2A, tab 6, schedule 2, which sets out all of the capital projects, we're really not going to have any level of reporting related to this schedule, not at this detail?  

MR. WALKER:  We're not proposing anything like that.  As I understand it, it is not a requirement of the RRFE framework.

The measures that we put forward, we feel, give a good 

indication of how we are managing our progress and our work.  

     MS. GIRVAN:  So for example, with respect to reporting, would you not be able to do this level of reporting?  Is that what you're saying?  

     You say it is not really what you believe the RRFE is to say. 

     But my only point is in order for us to assess really are you doing what you said you were going to do, and at what cost are you doing that work, I think it would be really difficult to assess that if you simply give us a big number at the end of the day.  

     MR. WALKER:  I'm sorry, is there a question there?

     MS. GIRVAN:  My question is:  Would you be able to report at a more detailed level than simply giving us the dollars at the end of the day?  

     [Witness panel confers]  

     MS. GIRVAN:  Maybe I will just give you a little context.  I think we might be in a disagreement about what the RRFE says, and I might be wrong.

But at page 20 of that report, and it is just 

one sentence really -- two sentences:

"The Board will monitor capital spending against the approved plan by requiring distributors to report annually on actual amounts spent.  If actual spending is significantly different from the level reflected in the plan, the Board will investigate the matter and could terminate the rate-setting method." 

     And I guess we might disagree on the level of detail. But my question to you really is:  Will you be able to report in more detail than simply giving us a number at the end of the day?  Is it possible?  

I would think, in the context of the individuals that are in charge of each of these projects, they're going to know what was done, they're going to know what was 

spent.  

And they can -- then people can look at that relative to what you said in this particular application, what you said you were going to do and for what cost.  

     MR. WALKER:  Yes, it is possible.  

     MS. GIRVAN:  Okay.  Thank you very much.  Those are my 

questions.  

     MS. LONG:  Thank you, Ms. Girvan. 

     MS. SPOEL:  Just before you finish, Mr. Walker, you referred to the time the people spent on the wrench.  Does that mean, like, actually working at as opposed setting up for work?  When I hear "on the wrench" I am thinking, like, physically actually doing actual work.  Or is it a term of art you use, or --

     MR. WALKER:  Largely.  There is some -- like, set-up is typically considered wrench time as well.  But travel time to the job site, those things that are not contributing to the production of the work is usually how we distinguish it. 

     MS. SPOEL:  I hadn't heard that phrase before, so I wasn't quite sure what it meant.  

Thank you.  

     MS. LONG:  Mr. Janigan, are you ready to proceed?  

     MR. JANIGAN:  Thank you, Madam Chair.  I think it is my time on the wrench. 

     [Laughter] 

     MS. HELT:  Mr. Janigan, I don't believe your microphone is on.  

     MR. JANIGAN:  Now it is.  Thank you.


CROSS-EXAMINATION BY MR. JANIGAN:

     Thank you, panel.  My name is Michael Janigan, and I 

represent the Vulnerable Energy Consumers Coalition.  I have a few questions about the evidence.  

I wonder if Mr. Fenrick and Mr. Sonju could turn up figure 9 of their evidence, which I believe is on page 33.  

     Figure 9 compares the total costs versus the actual 

costs of a group of utilities to Toronto Hydro.  And in Board Staff Interrogatory 1(b), OEB Staff 17, you were asked about the inference that you draw from that page.  

     And it is indicated therein that you said that this is suggestive that the company's capital was in need of investments.  

     And further on page 2 of that interrogatory, Board Staff 17, you indicated that PSE has concluded that capital investment is likely to move Toronto Hydro closer to benchmark expectations in total costs and frequency of outages.  

     Now, in terms of your conclusions that this figure 9 is suggestive that the company was in need of investments, is it also the fact that that figure 9 could, in the absence of any other information, also be suggestive of the concept that the utility is highly cost-efficient?  

     MR. FENRICK:  Yes.  I believe the figure 9 is a measure or an illustration of cost efficiency, which could be the result of older, aging infrastructure, or could be the result of Toronto Hydro using its inputs to more effectively or more productively deliver outputs to customers. 

     The suggestion -- the suggestion that we made in the report is also connected to -- and you saw it in our response to the interrogatory -- is also in connection with the SAIFI finding where the system is -- or certainly appears to be, based on our analysis, to be failing more than our benchmarks would suggest. 

     So in tandem, these two findings really do suggest to us that, you know, there's an aging infrastructure situation.  It doesn't necessarily empirically conclude that, but it does suggest, it is suggestive of that. 

     MR. JANIGAN:  Your prediction is that increased investment could move -- could reduce the frequency of outages and improve the SAIFI levels?  Is that what you're saying?  

     MR. FENRICK:  Yes, based on the projections provided to PSE from Toronto Hydro that the capital spending program should result in better SAIFI outcomes for customers, we find that the spending plan would -- you know, if those projections come to reality, would move the company more towards the benchmark expectations.  

     MR. JANIGAN:  But once again, not to be unfair, but both yourself and Mr. Sonju are not here purporting to be an expert on Toronto Hydro's capital plans in relation to the state of the assets, or the needs of the system?  

     MR. FENRICK:  Yes, that's very true.  We're here to provide the benchmarking evaluations and explain those.  But yes, we haven't looked through the capital plans and those types of things. 

     MR. JANIGAN:  Okay.  And you haven't had the opportunity to compare Toronto Hydro's asset conditions with utilities of similar characteristics, other than your benchmark studies?  

     MR. FENRICK:  Yes, that's very true.  

     MR. JANIGAN:  Okay.  Now, in OEB Staff 17, once again you were asked questions about the data and the relevance of underground plan -- of the underground plan with respect to reliability.  

     And in reading that response, what I take from it is that you are saying you didn't find a correlation between the amount of the underground plant and reliability; is that fair?  

     MR. FENRICK:  Could I ask specifically what you're referring to?  

     MR. JANIGAN:  I don't have the response in front of me.  I wonder if you could scroll down -- go down further, please.  Go down further on this --  

     MS. HELT:  Perhaps I can assist, Mr. Janigan?  I believe you're looking at 1B, OEB Staff 20.  

     MR. JANIGAN:  Okay.  Thank you.  I had the wrong interrogatory for you. 

Do you recall the question now?  

     MR. FENRICK:  Could you re-ask it, please?

     MR. JANIGAN:  Okay.  In reading your response, I take from it that you're saying you didn't find a correlation between the amount of underground plant and reliability.  

     MR. FENRICK:  No, that's not entirely the case.  The situation with the percent underground variable is, in Ontario, for the Ontario data set, plant underground is not publicly reported.  The kilometres of line underground and the total kilometres are reported in the Ontario data set. 

     Conversely, in the United States the plant underground is reported, the plant and service that is underground and total plant.  However, you know, unfortunately the underground kilometres or, in the United States, the miles of line are not reported, like on the FERC Form 1, for instance. 

     So we had a mismatch there where we couldn't create a consistent variable for the percent plant underground.  And recall for the reliability we did the combined data set and the US data set, and produced two different models with the two different data sets there. 

     So we couldn't create a consistent variable for percent underground.  That is also combined with percent underground, is kind of in this area of benchmarking where, you know, it's partially mandated and it's partially a management decision. 

     So given the fact that we couldn't create a consistent variable and that it's kind of in this gray area of benchmarking, we decided to leave off the percent underground variable. 

     I believe in IR response -- I believe it is this one, in fact -- we did show what -- if you include the underground variable into the model what the results would be, and they're wholly similar to the models without the percent undergrounding. 

     But the percent undergrounding, also to answer further on your question, it is a relevant variable.  It does come in.  But for these reasons we left it off. 

     If you want to look at the results for the undergrounding, we provided that in this response here.

     MR. JANIGAN:  Thank you.  Let me move on.  

     I would like to look at your total cost benchmarking and in particular your choice of data set, being a combined data set of US and Ontario utilities.  

     And as I understand the reason for going outside of Ontario, is that you've developed -- on page 2 and page 3 of your evidence, is that Toronto Hydro is the only utility in Ontario with a large urban core with a developed downtown environment and the operational characteristics are highly different than the other utilities in Ontario; is that correct?  

     MR. FENRICK:  Yes, that's correct.  Certainly one of the motivations was to have a reflective model of the conditions of Toronto Hydro, you need the data set to contain utilities that share or encompass the variables and the challenges of the studied utility. 

     So for instance, if you look at figure 1, which is page 3 that you're referring to, you see Toronto Hydro is a pretty extreme outlier within the Ontario distributor industry, with Hydro One, you know, being way far on the right-hand side, but we know Hydro One is quite a bit different in characteristics to Toronto Hydro. 

     So Toronto Hydro is really on -- really an outlier, in terms of size of -- the size of the utility, number of customers, as well as the urban characteristics that you mentioned.  

     MR. JANIGAN:  And as I understand it -- and I can't find your reference -- you referred to the cost models for a utility's going from rural to suburban, up to downtown or highly urbanized.  It's kind of a U figure, where you have the high-cost model on the one side of the U is the rural or semi-rural, going down to suburban and higher density, and then going back up again to downtown or urbanized environment; is that correct?  

     MR. FENRICK:  Yes.  As far as the appendix of the PSE report, we provided that engineering study that did have that U shape, where serving a rural environment certainly costs more money relative to suburban and other areas, and then costs again start ramping up as you move to an urban core-type environment.  

     MR. JANIGAN:  Why doesn't your model have an adjustment for the high costs of rural service, if you have a variable associated with the high cost of intense downtown service?  

     MR. FENRICK:  You mentioned the report.  If you look at page 31 of the report, where we put together the combined sample, in there you will notice -- are we there?  Yes.  The DT variable is density, so customers per kilometres of line.  There you notice the coefficient is negative, implying that as -- as utilities get more dense, costs actually decrease or go down, and so if you go from the rural, you know, rural is going to have really low density. 

     As that increases you go down along that U shape that you mentioned, and costs are predicted to decline with the model.  However, as the engineering study showed, that's a U shape.


So at some point you exhaust those density economies, and as you go to an urban core environment -- which is the variable UD -- you see there that has a positive coefficient.  So that gets the other side of the U shape. 

     So the model does have both sides of that U shape that you reference. 

     MR. JANIGAN:  Okay.  If the difficulty with the Ontario data set was a lack of big cities, why did you include so many utilities that have rather extensive rural components in their clientele?  

     For example, I believe on page 15 you include something like the Public Service Company of Oklahoma.  And if you could take subject to check that, you know, from the website it indicates that it serves approximately 540,000 customers in 232 cities and towns across 30,000 square miles of eastern and southwestern Oklahoma, that doesn't sound like a kind of data -- you know, that utility presents a kind of data that is remedial of the problem that you've perceived with respect to the Ontario data.  

     MR. FENRICK:  The issue with the benchmarking exercise that PSE performed, we weren't moving towards a peer group-type approach, where we were trying to find the proper peers for Toronto Hydro. 

     We, in accordance with what was decided in fourth-generation IR, moved -- or utilized purely an econometric benchmarking approach.  With the econometric benchmarking approach you don't have to make -- you know, the researcher doesn't need to make distinctions on what utilities to include or exclude. 

     You essentially want to include all the data to which you have good -- good availability of data and the data is plausible and you can get the explanatory variables. 

     So to the extent that more data is better, and then we allowed the explanatory variables to control for the things such as density and urban core and the construction prices and all those types of variables, we let the econometric model determine what the influence of those variables are. 

     So for instance, you know, the Public Service of Oklahoma -- we included all of the US data who filed the FERC Form 1, were investor-owned utilities.  We didn't want to make any arbitrary exclusions based on the data set, so we included all of the US data set that we could, and then we created the econometric model, which is really the strength of the econometric approach. 

     We don't have to argue and debate over proper peer groups and those types of things.  We can include all of the data sets, create variables that explain and correlate the variables with costs, and then the benchmarks are produced from that. 

     So that is really one of the great strengths of it, and that is the reason why we didn't make those arbitrary exclusions such as Oklahoma. 

     MR. JANIGAN:  Following that analysis, why wouldn't you just use your economic model on the Ontario data set, if it doesn't matter whether or not -- what you are including, you know, if any reliable set of data can be included?

     MR. FENRICK:  The reason why you cannot just use the Ontario data is, as we showed throughout our report in that figure 1 graph, Toronto Hydro is an outlier within the Ontario data set.  

     And when you develop an econometric model, what you're doing is you're figuring out the influence of the variables on the total cost. 

     If you're using a sample that does not encompass or is really nowhere near your study utility, your benchmark is going to be reflective of that sample where -- for instance, for Ontario, you know, much smaller, more rural-type utilities. 

     So the benchmarks aren't going to be able to capture the cost challenges of Toronto Hydro.  They're not going to -- they're not using the Ontario data.  You cannot capture the economies of scale, because there is such a limited availability of data. 

     And I think this is one of the reasons -- and Dr. Kaufmann can speak to this -- why PEG itself in its report used the US sample only, because there is this recognition within benchmarking that your sample does need to be reflective, or at least encompass the variable values. 

Otherwise, you have these extreme outliers -- which Toronto Hydro is an extreme outlier within Ontario -– and your model is going to be insufficient to project a proper benchmark -- 

     MR. JANIGAN:  Well, I can understand you adding, for example, the US utilities that exhibit the same characteristics as Toronto Hydro. 

     But, you know, there's Oklahoma, there is South Carolina, there's southern Indiana, which is Vectren, New Hampshire; all of them are, by and large, very small cities and large rural areas.   I don't know how that increases your ability to arrive at an appropriate model, if the sets really reflect what you already have in a variety of Ontario utilities. 

     MR. FENRICK:  I would say with some of those utilities, while they are quite a bit more rural than Toronto Hydro, they do have a larger number of customers than perhaps the typical distributor in Ontario, as well as -- as I mentioned, we just didn't want to make any arbitrary distinctions in the data set. 

     We wanted to include all of the data and then create the model, versus -- you know, if we were making distinctions on this utility should be, this utility should not be, you know, that's not really the proper way to do econometric benchmarking. 

     You should put the data set together and not make those distinctions, and then create variables to capture the costs of the utility that you're studying.  

     MR. JANIGAN:  I wonder if you could turn up Board Staff Interrogatory 11.  That's 1B, Board Staff 11.  

     And here you've filed or appended some evidence that you offered in the Wisconsin Public Service Commission.  I think this is rebuttal evidence.  

     MR. FENRICK:  Yes.  

     MR. JANIGAN:  And it is noted here -- and I don't have the page where it is noted, but it is noted that you indicate that the utility had had a 43 percent increase in distributor capital costs, and showed SAIDI improvements of 20 to 25 percent.  Do you recall that?  And your models would have predicted the improvement of 12 percent?  

     MR. FENRICK:  Yes.  I am looking at page 4 of the rebuttal testimony.  I think that is where that is found, if that's helpful. 

     Yes, the -- for the Wisconsin Public Service or WPS, I testified for them and that was our findings, that the capital costs or the net distribution plant was to increase 43 percent over that five-year period and the utility projected an increase in reliability of 20 to 25 percent. 

     MR. JANIGAN:  And indicated that your models would predict an improvement of 12 percent from that 43 percent increase in distribution capital costs?

     MR. FENRICK:  Yes, that's right. 

     MR. JANIGAN:  Okay.  Have you done a prediction based on your models for the Toronto increase in distribution capital cost?  

     MR. FENRICK:  We do address this issue in 4-1 of the PSE reply report, where we did not conduct -- rerun this model, but where PEG essentially did try to replicate our work in this matter, and unfortunately was incorrect in replicating the work.  They made a mistake as far as replicating the work.

If you look at just the generalization of what Toronto Hydro is asking for, as far as their capital plan and how much capital costs would increase relative to their projections, just by my cursory look at it, it looks like Toronto Hydro would compare quite favourably. 

     The issue is we haven't had time to actually do that 

analysis properly, so I didn't want to provide any sort of results there.  But you can read through that and see, based on the net plant increase and the company's projections for reliability, it looks quite favourable compared to the WPS situation.  

     MR. JANIGAN:  Well, in WPS, the SAIDI was predicted to go up or to improve by 12 percent, with a 43 percent distribution -- increase in distribution capital costs, which is not completely out of whack with what Toronto 

is proposing. 

     Now, is it possible that you could undertake to provide us what your models would indicate, in terms of SAIDI or SAIFI increases, based on what Toronto Hydro is requesting?  

     MR. FENRICK:  Based on the different capital cost 

definitions that have been used in this case, it would be a 

pretty large undertaking to undertake that work and create new models based on the capital costs that we have. 

     MR. JANIGAN:  With Wisconsin, the way I read it, you had the model there and you applied the -- you know, the 43 percent into the model.  

     What would happen if you applied the appropriate percentage here into that same model?  

     MR. FENRICK:  The issue is providing a precise result. 

When we did the WPS work, the capital costs were defined 

kind of how we traditionally have calculated capital costs, 

through very similar methods as what's being used here. 

     However, we did adopt the fourth-generation IR methodology when calculating the capital costs, which had a base year 1989 and then had certain things to accommodate the Ontario data. 

     We would have to redo all of that work for Toronto Hydro to then insert Toronto Hydro into the model properly.  And that's -- it can be done.  It is just it's a pretty -- not quickly.  It's a pretty large undertaking. 

     MR. JANIGAN:  There's no other way you can accomplish this task?  I mean, it seemed like a pretty cut and dried kind of thing here from your reply evidence, that you increase distribution capital costs X amount and you can expect this kind of return in SAIDI, and I don't know what kind of return in SAIFI would be predicted by the model. 

     That certainly would be very helpful for us looking at, you know, what -- the benefits of the capital program as expounded by Toronto Hydro.


Is it possible you can do something within a margin of error, without having to, you know, burn the midnight oil?  

     MR. FENRICK:  I think, as we mentioned in the section, for instance, for WPS, their capital costs were increasing by 43 percent over that five-year period. 

     And based on that, we found a 12 percent reduction in SAIDI would be the benchmark, you know, based on the industry.  We think 12 percent. 

     I've already provided kind of the preliminary estimate without precisely doing it, in that, you know, Toronto Hydro here is increasing their plant by 25 percent and then projecting in -- what is it -- 18.7, 18.7 percent increase. 

     So here you have a lower net plant increase compared to WPS, and right about in the same ballpark as far as -- you know, Toronto Hydro is a little lower as far as the SAIDI impact, but pretty close, in the ballpark.


So if the WPS looked good in that analysis, I can tell you that Toronto Hydro would also look good in the analysis.  Providing you an exact number or -- you know, that's about as good as I can do without -- 

     MR. JANIGAN:  Sure.  Would that same extrapolation apply to SAIFI as well?  

     MR. FENRICK:  No.  That model that we did for WPS just 

pertained to SAIDI.  We didn't look at SAIFI.  WPS -- SAIDI was their main metric that they were emphasizing to the regulator, so we solely looked at SAIDI. 

     MR. JANIGAN:  Have you ever looked at SAIFI in the model?  

     MR. FENRICK:  Not in this case.  It is -- it's been one of my professional endeavours to look at SAIFI and try to get that into a model.  That's been one of my goals, and hopefully I will accomplish it at some point.  I have been working on that for a lot of years, and we'll get it at some point.

But yeah, so to answer your question, we have looked at that.  Not in this case.  It's something that is not as easy to put in as it might first look. 

     MR. JANIGAN:  Okay.  Just coming back to SAIFI again, I wonder if we could turn up Exhibit 2B, section C, page 22.  And the figure -- there should be a figure on page 22.  That's okay.  I will leave that point.  

     Thank you, Panel.  Those are all my questions for this panel, Madam Chair.  

     MS. LONG:  Thank you, Mr. Janigan.


Mr. Shepherd, perhaps we will take a 15-minute break and come back and start with you. 

     MR. SHEPHERD:  Yes, Madam Chair.  Can you give me some guidance as to how long you want to sit today?

     MS. LONG:  I was thinking that we would sit until 5:00 o'clock unless that presented problems for anybody, and -- or we can break earlier.  Is that a scheduling problem for anybody, 5:00 o'clock, between 4:45 and 5:00?  I mean, we will see where you're at.  

     MR. SHEPHERD:  That's fine.

     MS. LONG:  Thank you.  

     --- Recess taken at 3:24 p.m.


--- Upon resuming at 3:47 p.m.

MS. LONG:  Please be seated.

Mr. Shepherd?  

     CROSS-EXAMINATION BY MR. SHEPHERD:  

     MR. SHEPHERD:  Thank you, Madam Chair.  Madam Chair, a time check.  I am down for three hours; I likely will take the whole three hours. 

But because it is split in the middle, sometimes overnight you can find stuff to take out, and I will do my best. 

     MS. LONG:  Thank you. 

     MR. SHEPHERD:  Witnesses, my name is Jay Shepherd.  I'm counsel for the School Energy Coalition.  I think I know all of you, except perhaps Mr. Sonju; I don't think we have met. 

     My understanding -- I think this is for Toronto Hydro first –- my understanding is that in this application, you have two claims with respect to productivity and benchmarking. 

     The first claim is that in your results to date over the last decade or more, you have generated savings through your productivity, and you have benchmarked favourably when you benchmarked in a proper way on costs.  

Is that the first thing, the first thing that you are claiming?  

     MR. SEAL:  I think with respect to the benchmarking results from the PSE's study, historically that is one of things that they show, that relative to the benchmark utility, Toronto Hydro has performed well, yes. 

     MR. SHEPHERD:  And you also -- as part of that, you also claim that over the last decade or more, you have generated productivity savings from which the ratepayers have benefited, right?  You did a whole thing on that.  

     MR. SEAL:  I presume you're referring to our past 

productivity study, which did highlight a number of the 

initiatives and programs that the company undertook over the amalgamation to present period, that we believe resulted in cost savings, efficiencies and benefits to ratepayers, yes.  

     MR. SHEPHERD:  And you're also claiming that in the 

five-year test period for this custom IR application, you will continue to be productive and you will continue to benchmark favourably on costs to your peers; is that right?  

     MR. SEAL:  So again, from the benchmarking perspective, the benchmarking results indicate that Toronto Hydro does track well against the benchmark utility. 

     And from our evidence with respect to productivity in 

programs that's spread throughout the evidence and summarized in schedule 5, that talks about a number of the programs, the initiatives that we are undertaking that will lead to productivity at the company and efficiencies, yes, it is in there. 

     MR. SHEPHERD:  All right.  So I am going to deal with those somewhat separately, but I want to first understand some context. 

     I have a compendium, Madam Chair, if I could get a number for it.  I think you have copies. 

     MS. HELT:  We will mark that as Exhibit K2.2. 

EXHIBIT NO. K2.2:  SEC COMPENDIUM OF DOCUMENTS.

     MR. SHEPHERD:  It is not as thick as I normally have, but what can I say? 

     If you can turn to the compendium, Mr. Seal, you will see the first two pages are graphs.  Will you confirm that the first page is a graph we provided to you of revenue per customer, with what we thought were appropriate adjustments, and that the second page is then your correction of that, that accounts for some things you feel that we didn't account for correctly?  Is that right?  

     MR. SEAL:  That's my understanding of what these graphs show, that the first graph is the one you provided to us yesterday, and the second graph is the one that includes the adjusted numbers that you asked us to look at, yes. 

     MR. SHEPHERD:  And the third page -- and I am really going to focus on the third page; the first page is only for visual excitement -- is the numbers behind that graph, right?  

     MR. SEAL:  Those are the numbers that we provided you yesterday for those graphs. 

     MR. SHEPHERD:  So these numbers are numbers that 

you have corrected to make sure they're accurate; is that right?  

     MR. SEAL:  We reviewed the numbers you provided us, and made the adjustments where we felt they were necessary. 

     MR. SHEPHERD:  So, for example, if you look at the first line on page 4 of our compendium, this is your revenue -- now, this is not your actual revenues each year, right?  This is a normalized revenue so that it is apples-to-apples, right?  

     MR. SEAL:  Sorry, which page are you referring to, Mr. 

Shepherd?  

     MR. SHEPHERD:  Page 4.  

     MR. SEAL:  So that is your table? 

     MR. SHEPHERD:  Well, it’s actually yours now.  The first line there, "Revenue," that's not your actual revenues each year.  It is a construct of revenue to normalize it for numbers of customers and weather, right?  

     MR. SEAL:  Well, as I've indicated in that note, what that line represents for most years is our actual or forecasted number of customers, weather-adjusted billing units, times the approved rates for those years, or proposed rates for those years.  

     For most years, that's what that line represents.  For 2009 and 2010, it also represents an adjustment for -- well, I guess it is our interpretation of an adjustment that you proposed to those particular years to account for IFRS effects in 2011. 

     MR. SHEPHERD:  So you made some -- and this is just to make sure that the Board understands how the figures are set out.  You made some changes in 2011 to depreciation and capitalization that had an impact, a material impact on your revenues, on your revenue requirement.  

And that is not reflected in your prior year numbers.  So it had to be corrected for it to make all of the numbers on the same accounting basis; is that fair?  

     MR. SEAL:  So the changes that were made in 2011 and 

resulted in the Board-approved rates at that time included the impacts of the IFRS adjustments that were made in that 

application, yes.  

     And the adjustments, then, for 2010 and 2009 put it on the same basis.  I wouldn't say that it is exactly the same, because if I was to do an IFRS statement for those years or any adjustments, it might be different.  But it puts it on a similar basis. 

     MR. SHEPHERD:  So from the point of view of the Board, they can look at these numbers as being reasonably comparable over the ten years, right?  Or 11 years, I guess?

     MR. SEAL:  Well, again, they're all based on that same 

construct, yes.  

     I will add that the other adjustment that we made was for the 2012 –- well, actually for 2009 to 2014 we also included revenues associated with the smart meter rate rider, and for 2013 and 2014, revenues associated with our ICM rate riders. 

     And again, the idea there was to make all years somewhat comparable in terms of revenue associated with the assets that we have in place or had in place in those years.  

     MR. SHEPHERD:  Okay.  So the result is that you have 

revenues increasing at something in excess of 8 percent a year over ten years, and revenue per customer increasing at something –- actually, I think the compounded number is 5.99 percent over ten years.  

Will you accept that number, subject to check?  

     MR. SEAL:  I will take your math, subject to check.  

     MR. SHEPHERD:  And the most -- most of that increase in revenue per customer is actually happening under the five years in this application, right?  39 percent as opposed to 62 for the ten years; correct?  

     MR. SEAL:  I'm not sure exactly what you're comparing.  

     MR. SHEPHERD:  Well, do you see the figure 39.03, which is this application?  That is the increases over the five years from 2014 to 2019, as opposed to the 62.64 percent, which is the increase from 2009 to 2019.  

MR. SEAL:  So you're comparing those two numbers? 

     MR. SHEPHERD:  Yes.  And I'm saying most of the increase over the ten years is actually happening in the last five; is that fair?  

     MR. SEAL:  I think that's fair. 

     MR. SHEPHERD:  Okay.  So it is also true that your average use per customer is going down, right?  

     MR. SEAL:  In general, it's our load -- our loads have been fairly flat and customer growth has been -- there has been customer growth. 

     So in general, yes, average uses have been going down. 

     MR. SHEPHERD:  So if you take a look at page 5 of our 

material, you will see -- this is your updated information, right?  Corrected as of February 6th?  

     MR. SEAL:  Correct. 

     MR. SHEPHERD:  Okay.  If you see the column "Total normalized gigawatt hours", you will see it is actually going down over the ten years on your forecast, but the number of customers is going up.  Right?  

     MR. SEAL:  Correct. 

     MR. SHEPHERD:  And so when we look at that 39 percent increase in the five-year period, actually, that 39 percent is not rates.  That's revenue per customer, because rates would actually have to go up more if your billing determinants are going down; isn't that right?  

     MR. SEAL:  Again, in this chart that you provided and I provided my edits to, the revenue is our proposed rates that come from our PCI index as proposed, applied to our forecasted billing units. 

     MR. SHEPHERD:  Yes, understood.  But if you're projecting lower billing determinants -- which you are, right?  That means that your unit rates have to go up faster than your revenue per customer?  

     MR. SEAL:  Our proposed formula, though, is not based on a per-customer basis or is not on a billing unit basis.  So our proposal for our application is to set rates for 2015 based on a cost of service basis and a normal rate-setting basis, and then for '16 to '19 to apply the custom PCI index to those rates.  

     MR. SHEPHERD:  Okay.  If you could go to page 5 of our materials, your increase in customers over the ten years is approximately 107,500, right?  

     MR. SEAL:  Sorry, could you restate that again, please, Mr. Shepherd? 

     MR. SHEPHERD:  Your increase in total customers is approximately 107,500?  689,399 to 796,865?


MR. SEAL:  Okay.  I follow you now.  

     MR. SHEPHERD:  Is that right?  

     MR. SEAL:  I will take your math, subject to check again. 

     MR. SHEPHERD:  All right.  And if you go to the next page, this is from your evidence, and I believe this is still correct.  This is your numbers of customers by class.  If you take a look at the first two lines, your first two lines are residential and condos, right?  

     MR. SEAL:  It's our competitive sector multi-unit residential class. 

     MR. SHEPHERD:  Which -- the acronym (sic) is condos, right?  And that's going up approximately 102,000.  Will you accept that, subject to check?  

     MR. SEAL:  For 2009?  

     MR. SHEPHERD:  For 2009 to 2019. 

     MR. SEAL:  I will take that, subject to check. 

     MR. SHEPHERD:  So that's basically -- almost all of your increase in numbers of customers is happening in those classes, right?  Almost all?  

     MR. SEAL:  And the largest component of that growth is coming from the CS -- competitive sector multi-unit class.  

     MR. SHEPHERD:  All right.  And the reason I ask that is because the residential and condo customers cost less to serve than your average cost for all customers, right?  

     MR. SEAL:  I don't know if I know the answer to that. 

     MR. SHEPHERD:  Okay.  Well, I will ask you to accept subject to check that residential and condos consistently cost about 49 percent per customer of your total cost per customer.  You can check the math if you like.  It is almost identical all the way across the chart.  

     MR. SEAL:  Perhaps you can tell me where you are coming up with that number. 

     MR. SHEPHERD:  I'm dividing the figures on page 6, which are your appendix C-1, by your revenues, which are in appendix E-2. 

     MR. SEAL:  The class revenues?  

     MR. SHEPHERD:  Yes.  So it's not going to be exact, because you have revenue-to-cost ratios to contend with, but it is pretty close, right?

     MR. SEAL:  Well, the revenue-to-cost ratios have changed over time, definitely, and that will account for some changes in the amount of revenue collected from that class.  

     MR. SHEPHERD:  Okay.  Well, then let's talk about the numbers.  Sorry, I thought this was going to be the easy part. 

     In 2009 your costs per residential customer -- your revenue per residential customer was 326.73; C-1, appendix C-1, divided by appendix E-2.  The numbers are 199,000,895 divided by 611,808 customers.  

     MR. SEAL:  I don't have these numbers in front of me, Mr. Shepherd. 

     MR. SHEPHERD:  Okay.  I'm just asking you to accept that it is going to be about 49 percent of your total cost. 

I am trying to get to a relatively simple point here. 

     MR. SEAL:  It is just difficult for me without seeing where these numbers are coming from. 

     MR. SHEPHERD:  All right.  Let's treat it as a hypothetical.  If the costs to serve residential and condo customers is significantly lower than the average, then that would -- should mean -- tell me whether this is right -- that actually your average cost per customer should go down if that is where all your new customers are coming from, shouldn't it?  If you're adding low-cost customers, then your average costs should go down, right?  

     MR. SEAL:  Well, I would say that might be the case if the costs that we're adding are only related to adding of new customers.  If the costs that we're adding are related to other things -- which in our case we have significant portion of costs related to system renewal -- that that -- that what you just posed before me isn't necessarily true, no. 

     MR. SHEPHERD:  Well, if you have costs that apply to everybody, like system renewal, then that's going to apply to the whole range of customers, so it is not going to affect what your -- it's not going to be affected by your customer mix, right?  Whereas if you add customers that have a lower cost, that should drive your average cost down.  It is just math, isn't it?  

     MR. SEAL:  Well, again, in your simplistic example I maybe can follow you.  But I'm not so sure that once I've included those costs in my cost allocation model, which allocates those costs based on the various allocators in the model, that that result exactly holds, no.  I'm not certain of that, Mr. Shepherd.  

     MR. SHEPHERD:  Okay.  The reason I am raising this -- this is contextual -- is a roughly 6 percent per year annual increase in revenue per customers suggests that you're not being productive rather than you are.  None of the other utilities in the province would have a 6 percent average annual increase over ten years, would they?  

     MR. SEAL:  I can't speak for what other utilities are proposing.  I can speak to what we're proposing, and I can speak to -- the revenues and the costs that you have included in your table are based on our proposal, which, as we've indicated throughout our evidence, again includes historical productivity and forecast productivity.  

     MR. SHEPHERD:  Well, if you were so productive -- I'm asking the more general question.  If you're so productive, why are the rates going up -- or the revenues per customer going up by 6 percent per year?  Inflation is 2 percent.  


[Witness panel confers]

     MR. SEAL:  Again, Mr. Shepherd, I turn back to my previous comments, where the -- our costs -- a significant proportion of our costs over the last ten years have been related to -- to work that's required to renew the system that aren't for adding new customers. 

     So I think that, logically, if you have -- let's use the hypothetical example where I wasn't adding any more customers but I had to renew some assets.  My costs per customer would increase, naturally.


MR. SHEPHERD:  Okay.  You have a 6 percent annual increase for ten years.  Is there a point in which the ratepayers stop having to pay that?  And if so, when is that?  Is that in the evidence?  

     MR. SEAL:  Our application is for a five-year custom incentive rate plan.  So that is in our evidence.  I am not aware if we have anything beyond that.  

     MR. SHEPHERD:  Is there a point in the future where the ratepayers can stop paying 6 percent more every year?  


[Witness panel confers]

MR. SEAL:  I'm not sure I have a direct answer to that for you, Mr. Shepherd.  

Again, what we have in our proposal before you today is the work that we think we need to do over the next five years to meet our customer needs, to meet our system needs.  

     MR. SHEPHERD:  You'll agree that if you ask for regulatory approval to spend money, and spend more money than just inflationary, and you have a proposal for why that's going to be in the ratepayers' interests in the long term -- here's where the numbers come back down to benefit you, ratepayers -- that's a different request than if you have a proposal that says:  We want another -- in this case, it is actually 8 percent a year for the next five years, and we're not telling you it is ever going to stop.  

Isn't that a different proposal?  

     [Witness panel confers]

     MR. WALKER:  Mr. Shepherd, I said in my testimony yesterday that, directionally, we expect our renewal expenditures to be comparable to what they are in the five-year CIR period until the backlog is cleared. 

     That's a directional expectation.  But it will be subject to what other costs are required, what's happening in terms of customer connections beyond the five-year period, in terms of other capital costs that we might have, the regulatory framework that we'll be filing under, and so on. 

     So we have not planned specific expectations beyond that.  

But there is -- that backlog of assets is what we're trying to address in our renewal program, and the intent is to eventually eliminate that backlog.  

     MR. SHEPHERD:  Which means what?  Rates will go up and up and up until they reach a plateau, and then they won't go up any more?  Or they will go up at inflation?  

     MR. WALKER:  No, I'm not an expert on rates.  But from an expenditure perspective, the renewal portion of our spend, if we stick to this plan view of eliminating the backlog consistently, those costs would remain directionally the same year over year.  

     MR. SHEPHERD:  So 500 million a year is your new steady state, if you like?

     MR. WALKER:  The $500 million is our total capital ask.  It is not our renew ask.  So there are -- there's our system renewal costs, there's our system access cost, there's our general plant cost, and our system service costs.  

     MR. SHEPHERD:  Okay.  Just before I leave this, can you take a look at the graph?  You can look at it on either page, but page 3 is probably the easiest.  It is why we scaled it this way, so you can see the shape of it.  

Because it looks to me like the only time you showed much in the way of productivity was in fact when you were on IRM from 2011 to 2014, when the slope changes.  And now in 2015, you're trying to catch up; is that right?  

     [Witness panel confers] 

     MR. SEAL:  Mr. Shepherd, I would disagree that this graph is showing productivity.  What this graph is showing is a revenue per customer number.  

As I said before, the revenues are the revenues the way we calculate them, divided by the number of customers. 

     What I can say is that the 2012 to 2014 period, which was our IRM-ICM period -- I believe we're on record already talking about 2012, when we received a Decision in our cost of service application and went back to the drawing board, essentially, for 2012. 

     And then the 2013 and 2014 -- although I have included the ICM revenues reflecting our ICM component that we did get approved over that period -- do also reflect the ICM mechanism that had thresholds and dead bands included as part of the requirement for calculating the ICM, so wouldn't reflect revenue associated with assets that we put in place in those particular periods.  

So all that is to say that over that period, 2012 to 2014, I wouldn't say it is necessarily representative relative to the rest of the graph.  

     MR. SHEPHERD:  Because there were rules that prevented you from getting more money from the ratepayers, or because you spent less, or some other reason?  

     MR. SEAL:  I think generally because of the operation of the IRM mechanism in that period.  

     MR. SHEPHERD:  So you just weren't allowed to collect as much from the ratepayers so your revenues were lower, even though you might have been spending at the same rate?  

     MR. SEAL:  I'm not sure I would characterize it exactly like that, whether we were spending at the same rate.  Clearly we weren't spending at the same rate in 2012. 

     MR. SHEPHERD:  Okay.  So then -- I reached the conclusion that when the Board said:  Wait a second, slow down your spending, you did.  

And the only time we see you slow down your spending in this whole graph is when the Board told you to; is that right?  

     MR. SEAL:  No.  Again, I'm not sure I would characterize it like that. 

     MR. SHEPHERD:  Well, how would you characterize it? 

     MR. SEAL:  In 2012, the Board didn't say slow down your spending; the Board said:  Come back with an IRM plan.  Which is what we did. 

     But we did that late in -– well, early in 2012, essentially.  So a lot of the reduction spending in 2012 is related to reworking our plan at that particular time.  

     MR. SHEPHERD:  I'm not sure that's responsive.  I am trying to understand why -- I am trying to understand what the Board has to do to get your spending under control.  And the only time they appear to have been able to do it is when they said:  No, we're not giving you more money.  

Isn't that right?  That's what happened in 2011; they said:  No, you are not getting any more money?  And you said:  Okay, we'll slow down our spending; isn't that right?  

     [Witness panel confers]

MR. WALKER:  If I could direct you to Undertaking J1.3, what this shows is -- we were asked to produce what the percentage of assets that were past end-of-life looked like in 2011, and it was 22 percent.  

So if you add the 7 percent that was coming to be past end-of-life in the subsequent years, that would have given 29 percent.  Today that mix stands at 33 percent looking forward.  

So the level of spend that we were on from 2011 to today has not even kept pace with the assets that are exceeding their end-of-life. 

     MR. SHEPHERD:  So what you're saying is the Board was wrong in 2011 when it said you can't spend more money?

And now they don't have a choice; they have to let you spend more money, because otherwise we're all going to die?  

     MR. WALKER:  I would not characterize it that way at all. 

     MR. SHEPHERD:  How would you characterize it, then? 

     MR. WALKER:  I would characterize it as we have a backlog of assets that put our system at risk.  And we need to address that backlog, or the system will under-perform and our customers will suffer for that.  

     MR. SHEPHERD:  Well, it's already under-performing, right?  That's why your SAIFI is so bad?  

     MR. WALKER:  We need to address this backlog to improve the performance of our system and service our customers.  

     MR. SHEPHERD:  All right.  I want to turn to you, Mr. 

Fenrick, and ask you about -- I want to start with a couple of questions about benchmarking theory.  

     If I understand how you do benchmarking, all benchmarking, you have three things you have to ask yourself.  One is what metric are you going to benchmark. 

For example, are you going to benchmark SAIDI or are you going to benchmark total costs or whatever, and that is the first decision you have to make. 

     Then the second is you have to determine who are you going to benchmark to.  You have a subject utility.  You have to figure out who you are going to benchmark to.  You can do it by way of a time series against yourself, you can do it cross-sectional against other utilities, or a combination of cross-sectional and time series against other utilities, right?  

     MR. FENRICK:  Yes.  That's --

     MR. SHEPHERD:  Okay.  So that's the second one.

Then the third one is what method are you going to use, and there are basically two methods.  You can pick a peer group that is comparable to your subject utility, or you can use econometric benchmarking, which means you don't need as precise a peer group because you adjust for differences, right?  

     MR. FENRICK:  Yes, that's correct.  And I would be more advantageous towards or more inclined towards the econometric approach. 

     MR. SHEPHERD:  Well, you're biased, right?  It's a good thing, though. 

     MR. FENRICK:  I wouldn't classify it as bias.  I would classify that method is a more accurate method of inferring performance. 

     MR. SHEPHERD:  So the first question, then, that you had to address is what are you going to measure, and you're measuring total costs.  You're also measuring reliability, but I'm taking right now about total cost.  So you're measuring total cost of the utility, right?  

     MR. FENRICK:  Yes, that's correct. 

     MR. SHEPHERD:  Okay.  Now, not everyone measures total costs in the same way, right?  So if you have a bunch of data, you don't know whether -- although it is all called total cost, that doesn't mean total costs for this utility is comparable to total costs for this utility, right?  So you have to adjust for differences.  

     So -- and so, for example, you had to adjust for CDM expenditures and you had to adjust for -- what were some of the other examples?  Where the numbers were -- the dollars were just not comparable dollars, right?  

     MR. FENRICK:  Do you mean by that that the total cost definitions are different between utilities?  

     MR. SHEPHERD:  Yes.  When you get a number from a FERC form, that's not necessarily going to be comparable to the number you get from Toronto Hydro, even though they're both called total cost.  In fact, you have to look down beneath them and see what are the differences that would be material, right?  

     MR. FENRICK:  Right.  I think that's an accurate portrayal, in that you want cost comparability between the sample, between the utilities there. 

     And coming up with the same cost definition when measuring total cost is -- that is certainly -- I would almost characterize that as kind of the first guiding principle, is to get the costs as comparable as you possibly can between the utilities within the sample. 

     MR. SHEPHERD:  Perfect.  And some of the disagreements that you've had with PEG have been about what you adjust for and how you adjust for them, right?  

     MR. FENRICK:  In regards to cost?  

     MR. SHEPHERD:  Yes. 

     MR. FENRICK:  Like the cost definitions?  

     MR. SHEPHERD:  Yes. 

     MR. FENRICK:  Yes.  I would say that's accurate.  I would say there's also been substantial agreement between PEG and PSE regarding, you know -- we put forth something with an understanding that bad debt expenses were in the cost definition.  PEG made us aware that that's not the case.  So they said, well -- PEG said:  Let's take uncollectible expenses out of the US definition, exactly right, and that's basically striving for that cost comparability issue. 

     The change -- you know, we have three changes that we would suggest to the PEG report.  The first two have to deal with the cost comparability issue, that you are trying to strive to have costs defined comparably between the samples. 

     MR. SHEPHERD:  And am I right in understanding that over the course of this process the disagreements between PSE and PEG on the cost comparability have mostly gone away and the ones that are left are not very big?  Is that fair?  

     MR. FENRICK:  Define "not very big."

[Laughter] 

     MR. SHEPHERD:  Well, why don't you characterize it?  I thought the differences in that area were small.  I'm trying to reduce the size of the problem here. 

     MR. FENRICK:  Right.  We have been too.  I would say on change number one that we suggest, which is -- it might be helpful just to look at.  If we go to page 1 of the PSE reply report, this first one is dealing with the cost comparability issue, where PEG was quite right to suggest that uncollectibles be taken out of the US data set. 

     However, the Toronto Hydro projections still included the bad debt expenses.  So we're simply taking those out.  That's an issue that -- I think it is fairly straightforward, to take those expenses out so that the costs are comparable between the US data set, Toronto Hydro's historical data, and Toronto Hydro projections. 

     So I would characterize that as a pretty straightforward -- not really a big deal, to use your words.  

     MR. SHEPHERD:  The question I am asking, though, is:  Are you and PEG now the same on this?  

     MR. FENRICK:  You would have to ask Dr. Kaufmann that question.  We know what's correct --

     MR. SHEPHERD:  I'm not asking you whether you're both correct.  I'm asking whether you have reached the same conclusion.  Or is your change a change that is not what you've seen from PEG so far?  

     MR. FENRICK:  PEG was asked an interrogatory where they claimed that these expenses were implicitly subtracted out.  I believe earlier I went through the math of why that is not necessarily true, where, you know, PEG is using -- they're calculating the 2012 cost levels based on their -- what they believe is the appropriate cost definition, which, you know, excludes bad debt expenses.  Then they're escalating to 2013, '14, '15 using PSE's growth rate between 2012 and 2013.


And as I mentioned before, the 2012 does not include bad debt expenses.  The 2013 value that PSE used for Toronto Hydro does include bad debt expenses.  So when you apply that growth rate, that is implicitly adding in bad debt expenses. 

     So I think that is the crux of the issue, and that was PEG's claim.  So to answer your question, currently they believe there is a disagreement.  

     MR. SHEPHERD:  Is this a lot of dollars?  

     MR. FENRICK:  I don't know the level of bad debt expenses, how many millions of dollars that is, offhand. 

     MR. SHEPHERD:  Okay.  Then the second one is CDM costs.  And as I understand it, PEG proposed to take out from the US sample certain FERC categories because they thought they were largely CDM costs.  You're now proposing to put in CDM in everything.  Right?  

     MR. FENRICK:  Yes, that's basically true.  PEG suggested taking out -- or they did take out, in their report, all of the customer service and information expenses that are reported in the FERC Form 1, on the basis that they believe a decent or a large portion of those expenses are CDM-related.  However, we disagree with that notion, because we know that creates a cost comparability problem. 

     Toronto Hydro has customer service expenses in their cost definition.  By subtracting out all of the customer service expenses from the US sample you're creating a cost comparability problem. 

     The simple way to solve that is what we did in the reply report, was:  Let's add back all those customer service and information expenses into the US, which include the customer service functions as well as possibly CDM, but we will -- we'll agree with PEG that it does include the CDM, to be conservative and to avoid quibbling over something that we can't actually solve. 

     So let's just add back in all the customer service expenses for the US.  Let's -- Toronto Hydro already has the customer service expenses in there.  Let's add back all of the CDM expenses for Toronto Hydro, and now we have cost comparability between the US sample having customer service information and CDM expenses, and Toronto Hydro having customer service and CDM expenses in there. 

     So that is the basic gist of number two, in that what PEG did really is unfair, patently unfair, that they're excluding customer service expenses in the US data but not in the Toronto Hydro data. 

     MR. SHEPHERD:  Now, the correct way to do it would actually be to take out CDM expenses in both the US and Canada, but only the CDM expenses.  Because they're not regulated by the Board here, they shouldn't be in either set.  If you had that data, that would be the correct way to do it. 

     MR. FENRICK:  That's an excellent point, that, you know, if the FERC Form 1 did separate out CDM expenses, then we could create cost comparability in that manner.

But unfortunately for PSE and PEG, that data is not available.  There's no way to make that adjustment.  So absent that, we still need to get costs comparable, and this is the way to move forward. 

     MR. SHEPHERD:  All right.  Aside from -- just still only dealing with cost comparability, aside from the 

treatment of CDM and the treatment of bad debts in which 

there are some differences, in all other respects you're comparing costs in the same way as PEG?  

You're calculating the costs both in your sample and for Toronto Hydro the same way; is that right?  

     MR. FENRICK:  In the PSE reply report, yes, we basically took PEG's proposed cost measure and then only made those two adjustments that we just talked about on the cost comparability issue. 

     MR. SHEPHERD:  All right.  Would it be fair to make an 

assumption that those two items are not going to make more than a -- call it a 1 percent difference in your comparability?  Am I in the right ballpark?

     MR. FENRICK:  As far as the benchmark performance level changing?  

     MR. SHEPHERD:  As far as the difference between 

Toronto Hydro and the benchmark, and the expected cost.  The impact is not going to be more than about 1 percent; is that about -- am I in the right ballpark?  

     MR. FENRICK:  No.  For instance, just take CDM expenses that were added for Toronto Hydro.  

     I believe in our reply report we state that we looked at those, and in 2015 that is $51 million that we're adding to Toronto Hydro.  That's a substantial number.  That's certainly going to sway that by much more than the 1 percent number. 

     MR. SHEPHERD:  Okay.  Now, the second part of benchmarking is who are you benchmarking to.  And you're using a cross-sectional time series, right?  

     MR. FENRICK:  Yes, that's correct. 

     MR. SHEPHERD:  Okay.  And so the difference, as I understand it, is that PEG has already done Ontario LDCs, because they did it in fourth generation, and they have now done the US data set as well, although their US data set is different than yours, but they have still done it, while you've done the US and you've done the US plus Ontario, but you have not done Ontario alone; is that right?  

     MR. FENRICK:  Yes, that's correct. 

     MR. SHEPHERD:  Okay.  Why didn't you do Ontario alone?  

     MR. FENRICK:  The reasons why we didn't do Ontario alone were kind of put forth in our original report, how the Ontario -- the Ontario industry is certainly not comparable, or does not encompass Toronto Hydro's conditions, most notably number of customers, which is a huge driver of cost, the urban characteristics. 

     Furthermore, you know, the Ontario data set has already been vetted in the fourth-generation IR proceeding, and frankly there's not much more that can be done with that data set because you can't include an urban variable.  You can't have -- you can't add a bunch of distributors that have the same size and characteristics to that data set, unfortunately. 

     So there is kind of no way forward as far as an accurate -- performing an accurate, trustworthy benchmarking comparison to Toronto Hydro using the Ontario data set.  

     MR. SHEPHERD:  Are you suggesting that the Ontario fourth generation comparison is not done properly, or just is not applicable to Toronto Hydro?  

     MR. FENRICK:  As we said in the original report, the fourth-generation IR model is perfectly appropriate for the vast majority of distributors. 

     It only is not applicable or not -- does not portray an accurate performance evaluation for a large-type utility like Toronto Hydro with urban characteristics.  That's an extreme outlier within the sample. 

     MR. SHEPHERD:  Understood.  What I was actually going for here is why you wouldn't have done the -- run the Ontario utilities through your model to see whether you produce similar results to PEG, so that the Board would then understand how you're -- on a data set that they know, -- how your model is different than PEG's, because they would be able to see:  Well, this is what it does to our guys, our utilities.  

     MR. FENRICK:  I would say we certainly did include the Ontario utilities into the combined sample, and there that provides the Board with a comparison of -- if we can conduct a fair analysis for Toronto Hydro -- how does Toronto Hydro stack up to the other Ontario distributors.  

     In there we found in the combined data set, looking at the 2010 to 2012, they were 15th; they ranked 15th out of the 71 distributors. 

     So I think that provides a good comparison or ranking to the other Ontario distributors, while performing a fair and accurate comparison that enables, you know, the urban core variable to be included, and has utilities that have sizes that are similar, greater than or less than the Toronto -- than the Toronto Hydro. 

     MR. SHEPHERD:  I'm a little confused.  Are you saying that when you ran the combined US/Ontario data set and produced some results, and you then rank the -- only the Ontario participants in that, if you ran Ontario alone, are you saying it would get the same result?  Toronto would be 15th?  

     MR. FENRICK:  Are you asking if the US data was excluded, and we only ran on Ontario distributors?  

     MR. SHEPHERD:  Would it be the same result?  

     MR. FENRICK:  No.  It would likely be much more in the line with the fourth-generation IR results of -- you know, because, simply, you cannot create a fair and accurate model for Toronto Hydro using the Ontario-only data set. 

     MR. SHEPHERD:  Well, then that gets to my next question.  I'm still on theory here, and that is that you have to choose the method that you are going to do the comparison.  And there's, as I said, the two methods.

And you chose -- and I think everybody agrees it's the most sophisticated, if far and away the more complicated approach, the econometric approach, right?  

     MR. FENRICK:  Yes, that's correct. 

     MR. SHEPHERD:  And in doing so, one of the advantages is that the comparators, the group, the data set you use, they don't have to be similar as long as within that data set you have sufficient information to be able to adjust for all of the relevant business conditions, right?  

     MR. FENRICK:  Yes, that's correct.  And so that you would -- within that sample, you would need utilities that would potentially be larger than Toronto Hydro or whatever utility you're studying, or would be smaller than Toronto Hydro, would have other characteristics similar and dissimilar, so you can create variables that accurately portray the cost drivers to the utility that you're studying. 

     MR. SHEPHERD:  And the reason why you have to do that is because you're not creating those variables by making them up.  You're creating the variables by looking at the data and letting the data tell you what the relationship is between the variable and total cost, right?  

     MR. FENRICK:  It's a little bit more in-depth than that.  I think if you take a step back –- you know, if we're talking about theory, you take a step back and say:  Okay, what variables do we think would drive costs from an 

engineering-type basis?  What would make sense?  What would we think those signs would be that would be logical and sensibly signed?  

     And then at that point you go and gather data and test that hypothesis. 

     But I think the first step is taking a step back and, you know -- what do we think the primary cost drivers are, so what variables should we be testing and inserting? 

     MR. SHEPHERD:  You're right.  Obviously it is a scientific process and you have to start with the hypothesis and test it, right?  

     MR. FENRICK:  Yes. 

     MR. SHEPHERD:  But I guess what I was trying to get at is that the variables that you use are the ones that the data says are significant.  It is not that you think it is significant; it's that the data tells you.  And that's why you need this full data set?  

     MR. FENRICK:  Yes.  Ultimately, you know, you take your first step of what sort of variables are we going to test, and what's our hypothesis.  

And then we put it into the data set, run the model, and with the requirements that it does need to align with 

engineering theory and it does need to be statistically 

significant, you know, to be included in the model.  Those are two basic requirements that have been established within the industry. 

     So those are the two -- they're the requirements that you would follow in designing and estimating the model.  

     MR. SHEPHERD:  Now, the reason I went through this, aside from the fact that I'm not an economist, is that I understand that what you end up with in this econometric process is, in essence, like -– and it's not exactly this, I understand.  But it's like a hypothetical utility that is identical in all its business conditions to Toronto Hydro, but is based on the US cost data.  

     And that creates your expected cost.  If you had a utility like the US sample but with exactly the characteristics of Toronto Hydro, that's what the costs would be.  Am I sort of right?  

     MR. FENRICK:  If you had a US utility?  

     MR. SHEPHERD:  That had all of the identical characteristics of Toronto Hydro and was exactly at the mean of your sample, then that would be their costs and that is your expected cost?  

     MR. FENRICK:  Yes.  On a high level, that is basically 

what it is.

It is creating a hypothesis, like you said, a hypothetical utility with all the characteristics of Toronto Hydro, including, you know, the input prices, the number of customers, et cetera, et cetera, all the variables that go into the model.  You're creating that hypothetical utility, which is why -- and you said at the mean of the sample that's why it is essential when creating that hypothetical utility that the data set is able to properly capture all of those variables, which is why we needed to include the US data set to create that benchmark or that hypothetical utility. 

     MR. SHEPHERD:  And the importance to this is that you and PEG agree on the method, you're both econometrists -- econometricians -- but you disagree on certain of the key adjustments.  Right?  So you're not doing it differently?  

     MR. FENRICK:  Yes, I think that is quite true.  In fact, we -- we followed the fourth-generation IR that was benchmarking procedures that PEG implemented, and we wholly agree -- well, I don't want to speak for Dr. Kaufmann, but I think we're both proponents, and we think that there is large advantages of the econometric benchmarking method, and we substantially agree on implementing it.  

     MR. SHEPHERD:  All right.  So this is -- and I went through all of that in part because I think I understand that the differences between PSE and PEG on this, on cost benchmarking, total cost benchmarking, are in part the comparability of some of the data which you adjust differently, and in part that you have identified certain limited number of variables, at this point not very many, that you disagree on the best way to reflect those business conditions in the model.  Right?

Other than that, you're basically the same?  You're doing exactly the same thing?  


MR. FENRICK:  Yes, I would say -- I mean, that was one of the purposes of the reply report, was to try to focus in on those main -- you know, those three main issues that we did have disagreement on, but there is a whole host of issues that we have substantial agreement on. 

     So we did try to narrow it down, you know, with the caveat I still don't -- I'm still not convinced that adding in, for instance, the smart meter expenses to Toronto Hydro is 100 percent fair, as there's only a handful of US utilities that have fully deployed smart meters.  But for that grey area we said:  Okay, we'll agree with PEG; we will take PEG's on that.


I also think the CDM treatment is likely unfavourable to Toronto Hydro, in that we're adding all of their CDM costs, whereas we're not convinced -- I mean, we even sent a message to the FERC Form 1.  They call themselves the FERC Form 1 team, and we sent a message, you know:  Are CDM expenses in customer service and information?  And they said:  We don't know exactly.  But we said:  Okay, we'll also agree with PEG on that, even though we know that is likely unfavourable to Toronto Hydro.


So with those two caveats that we basically acquiesced to what PEG is saying there on those two issues and narrowed the changes that we made in the reply report to those three that you characterized. 

     MR. SHEPHERD:  So you still end up with different expected costs than PEG, but the differences are not as much anymore, right?  

     MR. FENRICK:  Yes.  They have been crystallized.  We've tried to crystallize them into those three. 

     MR. SHEPHERD:  So Madam Chair, I realize I've raised the excitement level, but I'm finished this section, and I can profitably spend another ten minutes on the next section, or I can stop now if you prefer. 

     MS. LONG:  I think it is probably appropriate to stop now, and we will continue tomorrow. 

     MR. SHEPHERD:  Thank you.  

     MS. LONG:  So if there are no other issues that we need to deal with, we will adjourn until tomorrow at 9:30.  Thank you.  

     MR. SMITH:  Thank you.  


--- Whereupon the hearing adjourned at 4:42 p.m.
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